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Topic:- Grad_Nutrition and Health

1) A widespread commonly seen disease/illness spread by mosquitos is:/ A3 A B arell TPh
S T AR W S A arett Fars 2:

1. Cholera and diarrhea/ 89T 3R &&
2. Typhoid/ CIgHIsS

3. Tuberculosis/ &3 T (S[ERGAIT)
4. Dengue and Malaria/ S7 3R AQRan

Correct Answer :-

« Dengue and Malaria/ ST 3R HaRar

2) According to ICMR 2010, the amount of Kcal / kg body weight required by infants (0 - 6

months) per day are:/ ICMR 2010 & 3[J¥IRR, -TquiTd RIgrafi (0-6 WE) & o ufafeT smaza®
fraearl/ fFur IR UR &Y 96 3:

1. 100 kcal/100 faaidmaRt

2. 115 keal/115 fhaimart

3. 92 keal/92 feNdbant

4. All of the above/STad Wit

Correct Answer :-

« 92 kcal/92 fFaipaRT

3) Tetanus is an acute disease induced by the exotoxin of:/ ¢ TP &1 INT g St &
Sfgsifafay grT Afvd g @:

1. Clostridium tetani/dare fsad et



2. Clostridium perifengen/ %@%ﬂﬂ BIRVE T
3. Clostridium botulism/ ARSI SIgferad
4. Lactobacillus/dae IS RITT

Correct Answer :-

« Clostridium tetani/daRg fe g fac-

4) Well-nourished women with adequate gestational weight gain should increase their food

intake for the first six months of lactation by:/ THlaRITHT & waiad YR q@ qreft guﬁﬁ?rtrl%?nsﬁ
P WU & ARG S: T A 30 W S~rfgor & P g P TR

1. 900 keal/ day/900 faaiiarensl/ e
2. 600 kcal/ day/600 fraipany/fae
3. 700 kcal/ day/700 faidensy/fe
4. 800 kcal/ day/800 fraliorensl/fat

Correct Answer :-

« 600 kcal/ day/600 fPaiparl/fe

5) Cretinism is due to deficiency of:/ ELARGI| (CILEGL) P HU & HRT g %:
1. Fluoride/ UaiRTSS

2. Iron/ 3TARA

3. Iodine/ SMASH

4. Copper/ PR

Correct Answer :-

o Iodine/ 3MAISH

6) Energy needs of pregnant women increases because of the additional energy required for

the:/ THad T B ol P sTaWET T IR FIF & Rw afaiea ol afee @ 2
1. Growth of foetus/ TH®J RIg] #1 Ifg

2. Physical activity/ IRIR® Tfafafd

3. Mental activity/ MR Tiafafd

4. None of the above/ 375 I BI5 g

Correct Answer :-

« Growth of foetus/ TH®] fRIg] &1 i



Prolonged chronic cough and cold which cannot be treated by antibiotics may be indicative of:/

;ﬁw@wwﬁwwaﬁwmmﬁwmmqﬁmmm PT Ybd
g dl &:

1. Tuberculosis/ &3 T (CISRGAITIH)
2. Common cold/ 3H ?l?ff-w

3. Cough/

4, Dehydration/ﬁﬁ?ﬁWUT

Correct Answer :-

« Tuberculosis/ &3 INT (S[ERP AN

8) Which of the following is a problem during pregnancy?/'lT'l-ﬁﬂ'\‘-‘%n | Eﬁﬁ o gu=n +1 SJHT

g 82

1. Nausea and vomiting/ 38131 3R Iafedr
2. Oedema/ TSHT (A UehH B 1 I Jol)
3. Both of the above/ JURIad &I

4. None of the above/3H ¥ ®I5 8l

Correct Answer :-

e Both of the above/ RERCSEAGI]

%) Obese urban children are prone to:/ TR et 9= § B & IR IR gt

1. Malnutrition/gUIyor
2. Energy deficiency/ 3ol &I HHl

3. Carbohydrates deficiency/ BRIGRGE &I HHT
4. All of the above/ Juad Tt

Correct Answer :-

« Malnutrition/ o

10) Epidemic of disease refers to:/ Sufe® ﬁﬂ/'ﬂ%‘l’qﬁ Cag) artfg‘—lﬁ’ T fraa %:
1. Spread of disease in pregnant women/ ol feerat 7 A7 e
2. Spread of disease among adolescent group/ HYRT T T BT

3. Outbreak of disease that attack many people at same time/dgd AT TR THATY SMTHHUT HA aTel AT BT
PEa

4. Affects mostly children/ 3TIGBIRI: S I YUTAd B are T

Correct Answer :-



» Outbreak of disease that attack many people at same time/dgd Y I R THAN 3B AU B ardl IRT BT

11) Environmental factors which are indirectly related to malnutrition are:/ 98 URaxlt R it

VA FTY A UV § TR 3:

1. Personal hygiene/ fadiTd Weddl

2. Population density/ STEREAT U9

3. Environmental sanitation/ GRa=T Wegar (TRazh raRiy-fFHem)
4. All of the above/Sudad It

Correct Answer :-

« All of the above/3udad Faft

12) A predictor of the impact of body weight on morbidity and mortality risks is the use of:/

: SUUNT §RT FURAedr Td wRurRiiedr & SiRad W IR &F UR & YU BT QaigH T o
gbhdl &:

1. Body mass index/ a@ws@w
2. Body rate index/ CISEG E@Tﬂ
3. Body size index/ EIE]] SSIES 's{@?ﬂ
4. None of these/3TH ¥ ®Is -Ta!

Correct Answer :-

« Body mass index/ Sig! A S840

13) Osteomalacia develops in adults due to deficiency of:/ CURSaR:| G@DE?IT (m)
_ oteMF sRUBA §:

1. Vitamin A/ faeTfi= A
2. Vitamin B/ facifi= B
3. Vitamin ¢/ faeif@= ¢
4. Vitamin D/fde1f®= D

Correct Answer :-

« Vitamin D/fdei®@= D

14) As per ICDS norms the nutritional supplement of protein provided to adolescent girls is:/

ICDS & HH<s! & uR, fr=nival ) far o= arem W &1 Nus R 3:
1. 25 gm protein/ 25 U WA

2. 20 gm protein/ 20 IH YicH



3. 15 gm protein/ 15 I WA

4. 18 gm protein/ 18 UH UIEH

Correct Answer :-

« 25 gm protein/ 25 UM WA

15) Pneumococcal infections include serious disease such as:/ ?IFﬁW Hep ol § TRAR I
Mt &, 59

1. Mental disorder/ AR fdbR
2. Hypertension/ 3=Rdddld

3. Pneumonia/ Q?l;-tﬁﬁ??ﬂ
4. Malaria/HaRan

Correct Answer :-

» Pneumonia/ qﬁrﬁm

16) Diphtheria infection is caused by toxigenic strain of:/ fSwifar JwHur ¥ SiafqueH®
w¥e §RT I BT &:

1. Corynebacterium diphtheria/ﬂﬂﬁﬁﬁf&ﬂ Sy
2. Mycobacterium/ARIGIsae IRTH

3. SaImoneIIa/HIFiﬁﬁFlT

4. E.coli/3. a8

Correct Answer :-

« Corynebacterium diphtheria/@HisaciRad fEudifear

17) Weekly iron folic acid supplementation scheme is community based intervention that

addregs:/mmﬁmmwmwwmmwm%vﬁ & TEIfE
Rl B:

1. Beri-beri/ SRI-a’t
2. Arbinoflavonsis/3RTgaItIfa-dT

3. Anemia/ JadTedd (THITERAT)
4. To treat obesity/IﬁE'Iﬁ & IUTIR

Correct Answer :-

« Anemia/ XadTedd (T-HAN)

18) Groups vulnerable to under nutrition:/ fou qgg T ETNYUT BT FRITIAT 3Hfee gt %:



1. 0-6yrs of children/0-6 Y B 3y CINKCE]

2. Adolescent girls/ fpanfeat

3. Pregnant and lactating mother/‘T‘l-TT:l?ﬁ Ud WY & 36! Refdi
4, All of the above/B'CIﬁHH Tt

Correct Answer :-

o All of the above/BtlgTﬁ ot

19) Janani suraksha yojana was launched as scheme to facilitate:/ S+t R&T TIT Cal
T g9 & e e ot it <&

1. Safe delivery in hospital/ 3=Idld o ﬁ?f\&‘lﬁ u4qq
2. Delivery at home / TR A ygg
3. Delivery in ambulance/ Q@ﬁﬁ A ygg

4. Only C section birth/dad C Ya=H U¥d

Correct Answer :-

« Safe delivery in hospital/ 3RUdE & YRI& wrd

20) SARS stands for:/ SARS ®T [T AITH 3

1. Severe acute respiratory syndrome/ HfaeR THRIE TRt RigH (iR ditenr 4= daemn)
2. Severe acute rectal syndrome/ SfaTR TaJe Yaed Rigm (TRIR dieor AR daem)

3. Severe acute renal syndrome/ SHfaTR Tage Ha Rig (TR <iteur o daemn)

4. None of these/3TH I D15 Ta!

Correct Answer :-

« Severe acute respiratory syndrome/ HfatR TRIE IWZRes RighT (TR ofieur 5o daemn)

21) The foetus receives nutrients and oxygen from the expectant mother during pregnancy

%;;%:%h/mﬁann%zﬁﬂqmm&nﬂﬁﬂmmﬁ P A1 9 VP dd U STRISH

1. Ovaries/ USRI

2. Fallopian tubes/ Tafg Afereraft
3. Placenta/ THATS (e

4. None of these/stlff T aﬁs‘ T8l

Correct Answer :-

e Placenta/ T (@@?‘D



22) In India the suggested weight gain during pregnancy is:/ YRA # THfaRIT & SR '{EIT[%H HUR

i &

1.5 - 6 kilograms /5 - 6 faRm™

2. 7 - 8 kilograms/7 - 8 famm™

3. 11 - 13 kilograms/ 11 - 13 feawum™

4. 15 - 23 kilograms/ 15 - 23 f&aum

Correct Answer :-

« 11 - 13 kilograms/ 11 - 13 fam™

23) An example of incomplete protein is:/&rq:Uf e &1 Udh 3JqlexUl %:
1. Zein/ @A
2. Egg/ 31USI
3. Fish/ H&eit

4. Meat/ AIG

Correct Answer :-

e Zein/ ﬁm—rl

24) The hormone responsible for the let down reflexes in breastfeeding is:/ ¥4l o Srqura /

TIHT (AesTS) Hidad & firg Iaverdt giul &:
1. Oxytocin/ 3iTefteiRM

2. Insulin/ $gfeH

3. Aldosterone/ TeSRCRH

4. Testosterone/ CERCIH

Correct Answer :-

» Oxytocin/ NI ICai R

25) A nutritional disorder due to protein deficiency "disease the first child gets when the second

babyé;born":/ﬁﬁ?ﬁwﬁﬁﬁmwﬁwmﬁﬁm, "SR gl 9 R Ugd 9= Bl g
daredT "

1. Osteoporosis/ SUGRRTT (SHReATRIRRT)
2. Kwashiorkor/ BRRBR

3. Marasmus/ R

4. Oedema/ TSIHT (Rel T3 BIH H Il Yoi)

Correct Answer :-



o Kwashiorkor/ ®1R IHR

26) Bleeding diseases is due to deficiency of: /TFIAE I ______ B! HH S BRI A &
1. Vitamin A/ faeifae A

2. Vitamin B complex/ fae1® B piciey

3. Vitamin K/ fdeTie K

4. Vitamin E/faeTie E

Correct Answer :-

« Vitamin K/ fderfi K

27) Hepatitis C virus belongs to which of the following groups?/ %‘%‘Eﬁﬂ C ﬁ'ﬂTUJ Eﬂﬁﬁ IE]
e | T 3Gl 3?

1. Herpes virus/ 8UIST aRRY
2. Picorna virus/ O Hl IRy
3. Flavi virus/ GaTd! araRg

4. Hepadna virus /%CIISH CIERSS|

Correct Answer :-

e Flavi virus/ GdT 9y

28) Low blood levels of folate during pregnancy can cause:/ TYHGRIT # 7o | Wide &1 WX FH

TAA___ A usdre:

1. Diabetes/ ugﬂ's'

2. Heart disease/ gl AT

3. Neural tube defects/ AT ATd TN (XA S fethae)
4. Renal failure/ 9o (ﬂ'c‘{f) fawarar

Correct Answer :-

« Neural tube defects/ Tl AId QY (R I fShac)

29) Which vaccine is to be administered at the age of 10 years:/ 10 af 31 S IR PIH-T1 HbT

fear Smar @2
1. Tetanus toxoid/ ¢e-g CladZS
2. BCG

3. MMR

4. Oral polio dose/ H’Eﬂﬁ WW



Correct Answer :-

« Tetanus toxoid/ ¢cY TidsS

30) Growing children need good amount of protein and calcium for:/ aa?raaﬁ Cal ¥ f%l'l;I
ST 9 ® WA Ud IR 3t srawaddr usdl 8

1. Healthy growth and development / Td¥&J E{@ ud faer™
2. Stunted growth/ 3d¥& q@

3. Weight gain/ lﬂ?&%ﬁ

4. All of the above/ G“CPQIT:H vt

Correct Answer :-

« Healthy growth and development / ¥® gfg Td fab™

%1) One of the richest plant source of protein is:/%ﬂﬁ 7 ﬁT-r, U & T9d qH& Uleu oIk K Udh

1. Zein/ @A
2. Wheat/ ﬁ?{
3. Soybeans/ IS

4. Maize/ HdDI

Correct Answer :-

« Soybeans/ TR

32) Which is true in respect to CoIostrum?/Tﬂ'q:'Sr (Hﬁ?ﬁ?@"ﬁ) & fawg o 37{!?[ LESIE R %7
1. Can be synthesised by the hewborns/aasiId ﬁr&g 3T YIAYUT HR Jhdl g

2. Is a source of antibodies and secreted from the breasts for the first few days after birth/ Ig ST P H
Y& F& A d% AT & W1 Y i gl g 3R I8 Eiaie! &l | §

3. Contains primarily fat/ I HOAd: 9T Gl %
4. A hormone involved in stimulating lactation/ g gTUdd P GE‘TGI A ?ﬂ?ﬂ'e!ﬁ %
Correct Answer :-

« Is a source of antibodies and secreted from the breasts for the first few days after birth/ Ig STH G
TEHTN TS &1 9 TIdT & -1 Hfad gl ¢ 3R T Teiare! o1 9d o

33) Tetanus toxoid vaccine is taken by the population to safeguard against:/ > faog
TR 31 & fore safdal o1 dew elqurss dRf= far s @:

1. Diphtheria/ fSwiRar



2. Whooping cough/ﬂﬂﬁ[@'ﬁ
3. Tetanus/ It
4. Cold/p™H

Correct Answer :-

« Tetanus/ eI9

34) DPT is popularly known as:/ S &1 A A %
1. Double antigen/ ECNRCISES

2. Triple antigen/ ECIEQE‘DIGFT

3. Polio antigen/ Tiferal Ueie

4. All of above /Sudad Tt

Correct Answer :-

« Triple antigen/ foud Tt

35) Heart disease show strong links to high: /3= ¥ TIY g I BT Uad T~ Tl Ial

f

1. Fat and cholesterol intake/ T9T Td SIeReRId SH=RIgUN
2. Protein intake/ e 3rfgur

3. Vitamins intake/ fae1fiq srasdgor

4. None of these/ 3TH 9 P =gl

Correct Answer :-

« Fat and cholesterol intake/ T9T Td HIAXRRIA aUgUl

36) Important objective of national iodine deficiency disorder control program is:/ I JTAS A
a1 fAeR v sriwH &1 agayl Sy §:

1. Health education and publicity of importance of iodized salt / TR R1&T Td 3MASH Jad THS Bt Tel &
TR

2. Laboratory monitoring of iodized salt/ JSH Yod THD Pt AT AR
3. Supply of iodated salt in place of common salt / 3TH TH® & Y R SH Yod THD Gl e«rrt,_[i%f
4, All of the above/B'ClﬁTﬁ Tt

Correct Answer :-

o All of the above/thgTﬁ gt



A dirty white foamy raised spots formed on the surface of the conjunctiva is due to deficiency of
vitamin A is known as:/ f3e¥F A B it F FRUI AT (HoigeTgar) Bt Tdg W g4 Tig Tbe
FNTER 3WR §U Uy A &

1. White spot/ &4 faf

2. Yellow spot/ Hid fafy
3. Bitot spot/ facic ity
4, Ulcer scar/90l &di<g

Correct Answer :-

« Bitot spot/ facie fafT

38) Morning sickness is the termused for______during first trimester of pregnancy:/

m?mm@(ﬁ%m),nmﬁmm%amaﬁm/a & fore wgea
T B

1. Increased appetite/ Y& q@
2. Nausea/GTSWI'Sc
3. Constipation/ ®osl

4. Anxiety/Set

Correct Answer :-

. Nausea/GEITb‘Ié

39) Which promotes absorption of fat-soluble vitamins like Vitamin A, D, E and K:/ dg I % |
a1 ¥ ga-=ia faerfamy, 99 faerfiq A, D, E 3R K &7 3/@=ivur gerdr 8:

1. Proteins/ T

2. Fats/ a1

3. Carbohydrates / FTaleTIST
4. Minerals / @S

Correct Answer :-

40) Which of the following is a disaccharide?/37H ¥ HI9 UF SEAPIES 272
1. Galactose/ gl
2. Maltose/ HTee Il

3. Glucose/ TGl
4. Fructose/ ool

Correct Answer :-



e Maltose/ AT

41) Main risk factor for non-communicable diseases in urban and rural population is:/ et 3R

AT SRS § SRIARUTHIe IR T G SHEH PR &
1. Alcohol abuse/ TehIgd HHIART
2. Poor diet/ WX 3GR

3. Tobacco consumption/ TEETH IYHNT
4. All of the above/Sudad It

Correct Answer :-

« Al of the above/3udad T+

42) Agaemia in our country is essentially due to:/ G'Flﬁ‘ %‘QT H Igdreud (Q7-ﬂﬁl'€ﬂ) HE8Id: &
PR &:

1. Iodine deficiency/ 3MaISIH &1 HH

2. Electrolyte deficiency/ Stidgidse @ HH!
3. Iron deficiency/ 3R &1 HH

4. Calcium deficiency/ e @) !

Correct Answer :-

« Iron deficiency/ 3RH &1 HH!

43) Koilonychia is found in which deficiency:/ gdf<a (@isafFan) frast o 3 wafa g2
1. Vitamin B12/ fde1f®+1 B12

2. Vitamin B6/ fdeT1i®+1 B6

3. Vitamin C/faetfB= C

4. Tron deficiency anemia/3IAIRT SR T (Fﬁ'a’ AT Tl dn)

Correct Answer :-

« Iron deficiency anemia/3R—RIR SRt wiftran (Fﬁ's’ YA Yadleyd)

44) Intake of protein less than 0.4 to 0.6gm/kg of body weight per day is considered as:/ 0.4 I
0.6 71/ fHuT TR YR A $H UIEH & radgor ot T S 8

1. High protein intake/ 3= WA =gl
2. Low protein intake/ BERIE \?—I-_cF;fEUT
3. Kwashiokar/ & IRBR

4, Marasmus/ﬁw



Correct Answer :-

« Low protein intake/ A% WM rigun

45) Amino acids that cannot be synthesised in the body are known as:/ TR | o i st
BT AT TG B THdl I8 Fed 8
1. Important amino acids/ H8YUl 3HIHT 37T

2. Essential amino acids/ TdR® (3@ =) ST 3

3. Non-essential amino acids/ A1dRIDH (#ﬁ-é@@[ﬁlﬂ) ST 3

4, Relevant amino acids/ URRI® 3HHAT 3T

Correct Answer :-

« Essential amino acids/ 3TI<a® (3IUFRA) SHAT 3T

46) Skeletal flourosis is caused by:/ FHTANT FIRIR BT FRUI %:
1. Inadequate intake of fluorine/ TR &7 3ruaf 3-|*_vl1j'e!UT

2. Excess consumption of fluorine/ TARM BT AATIH IUHNT

3. Excess consumption of vitamin C/ faeTffE ¢ &1 3rafde IuHi

4. Excess consumption of iodine/ 3TATSIM T 3Tf¥d SUHNT

Correct Answer :-

« Excess consumption of fluorine/ TR &1 SfdH STHIT

47) Undernourished expectant mothers may give birth to infants with:/ eqqfd Tt Aramg
_ RyeisrswIasdad

1. Low birth weight/ 571 &% 93 &H HR a1d
2. Healthy and strong/ Ya® Td Tfad=mai!

3. Tall and heavy/ T UL

4, All of the above/ G'Cl?iiﬁ it

Correct Answer :-

e Low birth weight/ STH & I HH YR a1

48) Cholera is due to contaminated:/ T5fud & PR goll Bidl 3:
1. Food/@e-uere

2. Water/ Sl

3. Air/dlg



4. None of these/stl'ﬁf I ﬁ'{f :Eﬁ

Correct Answer :-

o Water/ Sid

49) Oral rehydration therapy is given when the person has:/ Sid fed B giar % dad 'ﬂ@'ﬂ

gsieteor fafeaar (siva Seragwrm didt) & ot 2:
1. Oedema/ TSHT

2. Conspitation/ ®osl

3. Dehydration/ fFstciesRuor

4. Renal failure/ 9o (ﬂ?ff) fawerar

Correct Answer :-

« Dehydration/ Fsicii@Ror

50) Iodine content of iodated salt is estimated by process call :IGI'I'CﬁEﬂ:l J&d IHD |
TSI D AT BT SHipa- AT Uferar gRT fbaT e 3:

1. Phenolysation/ ISR

2. Titration/3TJHIUA

3. Hydrogenation/ slqé SRICR
4. Todometric titration/ SIS STATUH (ATTSHICH TISC M)

Correct Answer :-

« Todometric titration/ SAISIHCT STHU (IS HICH CTISCRA)

51) Composition of ORS as a home remedy:/ WX A g ORS 91 & ﬁl‘l! Cu) ile%T{:
1. Water one litre/ @?ﬂﬁ?\_ﬁf

2. 40 grams of sucrose/40 U™ {Eﬁﬁ

3. 1/4 teaspoon or a pinch of common salt/1/4 BIHELEE] QTW R THD

4. All of the above/ Judad it

Correct Answer :-

« All of the above/ Suad Tt

52) HIV is transmitted by all of the following routes except:/ TI3mgdl 374 ¥ &3 ARl &1 SlgH?
3= Tt | Waia g Tpar &2

1. Sexual intercourse/ TRAT
2. Needle prick injury/ gs g4 9 @t Aic



3. Blood transmission/ X1

4. Saliva/ AR

Correct Answer :-

e Saliva/ dR

53) Good sources of Ascorbic acid are:/EWl‘vﬁﬁ? 3T BT 3T '\‘;ﬁ?l%
1. Fresh fruits and vegetablesﬁﬂ@r wd d glesra

2. Cereals/ 311

3. Pulses/ ald

4. Milk/gH

Correct Answer :-

« Fresh fruits and vegetables/drsl Tl @ Hfesrai

54) Polio virus is spread through:/ uiferar ﬁNTUj - & ArEd o adr ?
1. Contaminated Food and water/ Tg{8d Hio 3R S

2. By dog bite/ T & HIeA

3. By insect bite/ BIg GRI BIC S

4. None of the above/ Iuad & I ®1s ol

Correct Answer :-

« Contaminated Food and water/ Tgftid 4o 3R o1d

55) A balanced nutritious diet for all age groups should include:/ It 31 T 3¢ Fgferd Tus
ER | i g+ afee:

1. Cereals and pulses/3fFTST @ gTa
2. Milk, meat, fat and sugars/ ¥, H1Y, T Td RHRIY
3. Fruits and vegetables/ Bd g Hfosdf

4. All of the above/ Judad Tt

Correct Answer :-

« All of the above/ Sudad Tt

Topic:- Grad_General Knowledge and Logical Ability

1)



Swachh Bacche Swasth Bharat is an initiative of Ministry of Health and
Family Welfare and / T8 9 TE WILT ST ST IiRETT FAT0r HATAT U
T ITSAT &7

1. Ministry of Drinking Water and Sanitation / T3 SiiT =T HaTed

2. Ministry of Health and Family Welfare / TaTe=T 3iiT 9&aTY FedT0T HATAT
3. Ministry of Human Resource Development / AT FaTaw fasma gamaT

4. None of these / 37/ & #Ig &l

Correct Answer :-

« Ministry of Human Resource Development / 9T9a d9Ted farsTe @=mer

2) In PowerPoint, Any and every command can be found on the: /UTaR Wrge ¥, farelt oft 3R &2
FUTS YT o TPl 8

1. Menu bar/ ﬂﬁLEﬂ?
2. Standard toolbar / KUgS [{SEIES

3. Formatting toolbar/ WA AR
4. None of these/ 3?3[ q aﬂé :ifﬁ

Correct Answer :-
« Menu bar/ ﬂﬁw

3) The salaries of A, B and C are in the ratio of 5: 6: 7 respectively. If their
salaries are increased by 5%, 10% and 5% respectively, then their
increased salaries will be in the ratio of:?/ A, B @Y C & dd+ &I S{JUTd hHT: 5:
6: 7 21 i 3% AT & HHRE: 5%, 10% TUT 5% I gfex B! AT, df 7% d¢ §T Ad &1
3IUTd SHHRT: G2

1.17:36:25
2.18:66:95
3.35:44:49
4.19:65:92
Correct Answer :-
« 35:44:49

4) Delivery and storage of email messages to a server is achieved using

? / TP IR W §-Ad Heu &1 faavur ik v ure far sirar @
1. Post Office Protocol (POP) / URE 3fifthy Uicidhid



2. Internet Mail Access Protocol (IMAP) / 3T 7Y Ty Uleidhid
3. Simple Mail Transfer Protocol (SMTP) / Riud Ad ¢iawR Uicidld

4. Hypertext Transfer Protocol (HTTP)/ BRWERT ARt R PIEEIL]

Correct Answer :-

« Simple Mail Transfer Protocol (SMTP) / Riud Ad TiawR Weldbid

5) Riboflavin is a/an: / m %QW
1. Vitamin/ faetfiq

2. Plant/ UTqU

3. Antibiotic/ Ufrolfad

4. Colouring substance/ B gardf

Correct Answer :-

e Vitamin/ faerfeq

6) From which state was the idea of Guddi-Gudda Board under the Beti
Bachao Beti Padhao Scheme adopted? /st =13 &1 T@Tr TISHAT § STANT ZIA AT
TEI-TET 1€ T GeheqaT e Uo7 & foram /m?

1. Gujarat / S T@
2. Madhya Pradesh / weawaer

3. Rajasthan / TrsteTa

4. Maharashtra / #gTg

Correct Answer :-

« Maharashtra / #gTg

7) In which year was the innovative approach of Parivarik Mahila Lok Adalat

evolved? / f&a af ¥ wifvarive afgen dte srereada & sifima foar o1 fafeaa foear mar?
1. 1985
2. 1986
3.1987

4. 1988

Correct Answer :-

« 1987



8) Which of the following ministries will undertake Open Defecation Free
activities in the Gram Panchayat of Kayakalp award winning Primary Health
Centre under the Swachh Swasth Sarvatra scheme? / =g T 945 JIST &
AT HIATHRT TLEHTT ST ATl TTATHE Ta€ hg & ATH GA1IT § G § AT {h DA il HIAHATT
1 & & FET HATT FO?

1. Ministry of Drinking Water and Sanitation / Ta<T i Fa=gdT HAT
2. Ministry of Health and Family Welfare / T 3T 9RETT FedT0T H3TAT

3. Ministry of Human Resource Development / 9T §aTee A §ama

4. None of these / 3% & #IE ALl

Correct Answer :-

« Ministry of Drinking Water and Sanitation / Ta<Tel 3T Ta=gdT §3TaT

9) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women cannot be called ‘Sati’?/ gt afafy (Twumw) sifafaaw, 1987 %
AATq H & F e AigATSl I TAT 6T AT § T@T A5l JT T 872

1. A widow being burnt alive along with the body of her deceased husband forcibly /

TS TIEHAT fSThT S0 gk 9T % g F 97 Jaiaed! 9T [RAT AT wr 8

2. A woman being burnt alive along with the body of her relative voluntarily / T wfgaT
ST 370 g Tl & <8 & 919 3% TA=gI a® STl (&qT ST @1 g

3. Both of the above / 39 g1
4. None of these / =78 & IS 7l

Correct Answer :-

« None of these / & & #I$ T

10) With respect to the Child Marriage Act, 2006, find the correct sentence
out of the following options. / 3= faaTg srferfam, 2006 F Twfaa e fFeat & ¥ a2t
foreeT T =F97 FL |

1. This law is also applicable to citizens of India beyond India / 7g st R=w w=a % a8
ATLA T AN 92 A q0] &

2. This law is applicable to whole of India / 7g sfefFa™ @ I=a § AR &
3. Both of the above / ITI<h a4t
4. None of these / za% & FIE Ll

Correct Answer :-

« This law is also applicable to citizens of India beyond India / =g sfarfe=® 9d & 187
ATLATT AN 92 A A0 &



11) In respect of OSI model, LANs implement:/3TH3TE ATSd & " #, a9
1. Lower two layers/ A &1 &l TR H

2. Lower three layers/ T B dH R H

3. All seven layers/ gt I TR |

4. None of the above/ 3uddd # J ®Ig ol

Correct Answer :-

« All seven layers/ gt Il TR H

12) The characteristic foul odour of faeces is due to-/ Ad &1 fafRIY 7Yy &7 giar &:

1. Indole/'s’@ﬁ
2. Skatole/ TheId

3. Both of the above/JURIdd ath
4. None of these/ E:I'Ef I aﬂs‘ '_'lﬁjf

Correct Answer :-

« Both of the above/SURIId ﬁ

13) The compound 'niacin or nicotinic acid' is a constituent of:/ frawdte ar freifesiie e e
# & forweT erqga gia1 8

1. Vitamin C / faeTféd ¢

2. Vitamin B complex / faertA B complex
3. Hormone thyroxine/ YRRIFH T SRAM
4. Sugar / DB

Correct Answer :-

e Vitamin B complex / faerfim B complex

14) In how many years will Rs.30,000 amount to Rs.34728.75 at 5% per
annum when compounded annually?/ fpaq aul 4 Tug 30,0001 TR 5% arffe
gl oITol Bl &¥ § ©Ud 34728.75 &l 1AM

1.3

2.4



3.5

4.2

Correct Answer :-
e 3

15) DIRECTIONS: Which of the answer figures is exactly the mirror image of the question figure

if a mirror is placed on the line MN?/ rd=n: = | 9 e <t saw WWWWE&W
yfafd gt afe T o 3 MN W 3T S

Question Figure / gaa7 3Rlg

N
Answer Figures/ 3Icd¥ 3—“351%?5!‘[

M

(1) (2) (3) (4)
1.1
2.2
3.3

4.4

Correct Answer :-
e 3

16) At what level does the Juvenile Justice (Care and Protection of Children)
Act, 2015 states that there should be one or more Child Welfare Committee
constituted? / i< = (FTA®1 T T@LE AT X&) ATATAH, 2015 F JTAR FH § F HA9
TIL I TF AT ATAF IT FedTor G £ =47 Y J1et A1 u?

1. State / T=¥
2. District / fSrT
3. Block / s

4, Panchayat / 9=

Correct Answer :-

« District / 5=



17) For how many maximum years can a person be imprisoned for
performing, conducting, directing or abetting of child marriage under the
Child Marriage Act, 2006? / s faaTe stferf@=w, 2006 ¥ Fqa a1 fAaTg F Gaarwar wr
FETaT FhaATefier, Gage, HaTA AT TICHTET HLT aTol SATRAT HT ohad ATHAH TUT T ha (haT ST
qhdT 872

1.2
2.3
3.4

4.5

Correct Answer :-
« 2

18) If ‘air’ is called ‘green’, ‘green’ is called ‘blue’, ‘blue’ is called ‘sky’, ‘sky’
is called ‘yellow’, ‘yellow’ is called ‘water’ and ‘water’ is called ‘pink’, then
what is the colour of clear sky?/ﬂﬁ{ﬁﬂ &I ‘eI’ dhel \‘sﬂ'cﬂ%, exl’ aﬁ‘ﬁm’am SITdT
g, ‘A B ATHHTA’ BT STdT 8, THT’ B "W Hgl SraT g, "9 &l "+’ Hgl |rdar
8, ‘U’ B [ATdl” BT ATAT 3,1 ATE ARTHAT BT T T 82

1. Blue/taT

2. Sky/3THHE
3. Yellow/dta
4. Water/Urit

Correct Answer :-

o Sky/3THHM

19) How many fellowships are provided each year under the Rajiv Gandhi
National Fellowship scheme? / Tfta ieft T wefarg FsmT % siavta gx ad § fohae
AT FT HATAT &7 1T 82

1. 667
2. 668
3. 669
4. 670

Correct Answer :-

. 667



20) Number of essential acid in man is-/ HJ T 3TaRa® HIHAT 3 B HEAT 8-
1. 18
2. 10
3.8

4. 20

Correct Answer :-

10

21) Which of the following diagram best represents the relations among
Calculations, Multiplication and Environment?/ﬁ'ﬂﬁ"\ﬁaﬁ:{—w SIﬁETTUFIT, o
3R araTaR YT & S T JaU B gtar 32

'[‘.:"u] {|-3r.] .-[.(_]I (D)
LA
2.B
3.C

4.D

Correct Answer :-

22) The average weight of 9 mangoes increases by 20 gram, if one of
weighing 120 gram is replaced by another mango. The weight of new mango
is: / 9 3T BT 3d IR 20 UTH §¢ STdT 7, gfe TP 3MH 1Tt o+ 120 I 8; 3T gea
TS 4T 3T AT ST 8 | 78 3T T HIR &

1. 180 gram/ 180 UTH
2. 200 gram/ 200 91H
3. 260 gram/ 260 UH

4. 300 gram/ 300 UH

Correct Answer :-

« 300 gram/ 300 9H

23) In a test, minimum passing percentage for girls and boys are 30% and
459% respectively. A boy scored 280 marks and failed by 80 marks. How



many more marks did a girl require to pass in the test if she scored 108

marks?/ T& GeT & asfeal ok as®! & o graw IHuife U 30% 3R 45% 7
TP ASP A 280 3P U fhar 3k 80 3wl A il 38 1| TP as@! fora 108 3w
e fRa, 38 Sl 11 & ford fpa sk st $t smazgsar 32

1.132
2. 140
3.160
4,112

Correct Answer :-

« 132

24) Initially how many districts were covered under the Backward Region
Grant Fund (BRGF) programme? / <9 | [USET 89 e [ier %9 o fohae v
H A R T om?

1. 250
2. 256
3. 268

4,272

Correct Answer :-
« 250

25) Who will be the head of the household for the issue of ration cards? /
AT FIET & TH1AT | TEeAT F TeTH oherehl ATAT STAT 82

1. Eldest male member above 18 years of age/18 ad & Ifars = & Ta& 972 =T T3

2. Eldest female member above 18 years of age/18 a¥ & STfa® o7 * G I AlgAT Hae

3. Eldest male member above 21 years of age/21 3 & A& A F Ta¢ 92 [T q3¢
4. Eldest female member above 21 years of age/21 I & A3 A  Ta9 g2 ARHAT A3

Correct Answer :-
. Eldest female member above 18 years of age/18 I & arfars Ay  Ta% 92 ARHAT A3

26) Kusuma is the wife of Ravi. Govind and Prabhu are brothers. Govind is
the brother of Ravi. How is Prabhu related to Kusuma?/ $JHI, I o uelt 31

Mg iR wy uig T IMfaw, I &1 uis 81 vy, a7 A 59 vor gwfia 82
1. Cousin/& o



2. Brother/ﬂ-ﬂ'sc
3. Brother-in-law/GﬂGT/éTﬂ/@E

4. Uncle/3i®d

Correct Answer :-

. Brother-in-law/GﬁﬁT/%aT/@?S

27) The total number of ova produced from 100 primary oocytes is-/100 MYFHF USSP HIHRBT3M
| g9 aTd SUSTUIS{ & =T giil-

1. 100
2. 200
3. 300

4. 400

Correct Answer :-
e« 100

28) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ e fFrafaRed vy o veares e ) & R
TR TIHIT DI AT A ST 2

i fana
(624) | 14.02 + V404 4 1597 = 2

1. 671
2. 570
3.710

4. 510

Correct Answer :-

29) When was the Department of Disability Affairs created? / fRerrar &1 fasmr
FF AT FoFAT TAT?

1. 2010
2.2011
3.2012

4, 2013



Correct Answer :-

« 2012

30) Which answer figure will complete the pattern of the question figure? /

e d ¥ i A 3R srpfa wy snpfa &t guf wvft?

S

—

w

AN 2

4,

Correct Answer :-

Z

31) A group of men decided to do a work in 15 days, but 2 of them absented
themselves. If the rest of the men finished the work in 20 days, find the
number of men that had initially decided to do the work. /ari%nﬁmwaa
ot w1 &Y 15 Y F qRT e &7 Fozerg wear @ afe 398 @ 2 @fad srgufeua gt wra 7
gfe Qv srfea It ord #Y 20 & & 1 Fa &, a1 afdaal @t G= R # fpa- a2

1. 10 men/ 10 3fTGH!
2. 8 men/ 8 3fTcH!
3.5 men/ 5 3{TeHt
4.7 men/ 7 3cH!

Correct Answer :-

« 8 men/ 8 3McH!



In which year was the Saansad Adarsh Gram Yojana launched? / 99 stef 919
FISTHT HIH T § AT AT?

1. 2013
2.2014
3.2015
4, 2016

Correct Answer :-

- 2014

33) Which microorganism cause hepatitis B2/ A A H=E ﬁ&ﬂﬁﬂﬁ mﬁ'\q &1 ST FROT %?
1. Virus /ﬁ'ﬁﬂT{[
2. Protozoa/JTCTSI3MT

3. Bacteria / \_rﬂTJITUJ
4. None of these/ ?ﬁﬁ I Tﬁg :%)[

Correct Answer :-

e Virus /AWy

34) What is the keyboard shortcut for creating a chart from the selected

cells? / 9fd A A TP I T4 & ¢ HIAIS Wicde AT 82
1. F11
2.F7
3.F5

4. F3

Correct Answer :-

- F11

35) Sanjay sold a bicycle to Salman at a gain of 46%. Salman spent Rs.40 on
repairing and sold it to Sunil at Rs.1500. In this process Salman got neither
profit nor loss. What was the cost price for Sanjay? / Wﬁwaﬁw
ATSPd 46% & ATH W 997 | FAHTH STt AT T FUd 40 T fhaT 3R T0d 1500 |
g 3t 99 foar | 5 uftear & gaum &1 9 a1y gen iR 7 8 g1fv1 @Y g & foe v ge
T YT?

1. Rs.900/%. 900

2. Rs.960/%. 960



3. Rs.1000/%. 1000

4. Rs.1060/%. 1060

Correct Answer :-

« Rs.1000/%. 1000

36) A man completes a Journey in 10 hours. He travels the first half of the
distance at 21 km/h and second half at 24 km/h. Find the total distance
travelled by him./ T® 3afad T a1 10 U & gof wvar 81 a8 I § uga smeht gt 21
foptft /e Y nifay & o Fwar @ ok 2w ol gt o 24 fomftae &t wifar & aeran g1 39 g
TT DI T3 it FIG PHoCI

1. 180 km/ 180 foT
2.210 km/ 210 fHHt
3. 224 km/ 224 fHHt

4. 240 km/ 240 f&H

Correct Answer :-

e 224 km/ 224 Tt

37) DIRECTIONS: Choose the missing terms out of the given alternatives./

ford=r: fou e fawedl & & go vl ot 91d 5|
m_nm_nNn_an_a_ma_
l.amammn

2Z.aamnan

3.ammanm

4 aammnn

Correct Answer :-

38) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fiq=r: fFafafad vy & usars e () & ®=H
TR ST P T AT ST ?

4433.764 — 2211.993 - 1133.667 + 3377.442 = ?
1. 4466

2.4377



3.3633

4.4144

Correct Answer :-

. 4466

39) Which one of the following options is/are not true? / % ¥ & #iwar1 faseq g8l
TRl 82
1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance

from a joint Hindu family/ &= STIterame sfafaaw, 1956 afedt &l Ua S (grg aa &
Faer StTTaRT T sTferespTe /iy ahcly

2. The Hindu Succession Amendment Act, 2000 gave daughters the right to
inheritance with her male siblings / &g STCTa= Femted sTfafaaw, 1956 & gT ATeTT &l
FI ATSAT & AT Area 7 srtershre e & =

3. Both of the above / 3T Ml
4. None of these / z7® & #IE &l

Correct Answer :-

« The Hindu Succession Amendment Act, 2000 gave daughters the right to
inheritance with her male siblings / f&=g STTfaRTE Femrerd stfafaaw, 1956 F gT afeai &
O AT = A1 e #7 srferenT e R

40) Which of the following is not a field type in Access:/ F19 & ¥ S It tad¥
o wics T-Iﬁ %:

1. Memo/ AH

2. Hyperlink / RECRNES

3. OLE Object/ OLE 3ilssiae

4. Lookup Wizard / &34 CEIS

Correct Answer :-

« Lookup Wizard / &34 faars

41) Diabities insipidus in controlled by-/STESdIS 3-MfUgw frrifya giar 3-

1. ADH/ ADH gRI
2. ACTH/ ACTH gIRI
3. TSH/ TSH gIRT

4. LH/ LH gIRT



Correct Answer :-

« ADH/ ADH gIRI

42) Which of the following schemes aims to prevent trafficking of women
and children for commercial sexual exploitation? /% & & F7-Y Tro=T *7 787
HIGAT U Sl & ATAATA% A1 ATI0T T a1 FLAT 82

1. One Stop Centre Sakhi Scheme / a9 ¥ ¥ &Y TIoT
2. Swadhar Greh Scheme / &% g FTHT
3. Ujjawala Scheme / Isra«T FrsT

4, Nai Manzil Scheme / 7 w5 TsT

Correct Answer :-

« Ujjawala Scheme / 3st@dT TIs4T

43) DIRECTIONS: Find out missing number from the figure given below./

= i & i srpfa & g W@ 3ra S
51
40
28

[ =

[ [ [ N I

(]

1.1
2.3
3.2

4.0

Correct Answer :-

e 3

44) Which of the following is not used to connect to the internet? / ffgd
P HI e3¢ ¥ Pae B P fore Iugh ) fopar S 82

1. ISDN
2. DSL
3. MODEM

4. VDU

Correct Answer :-

« VDU



45) Which of the following had launched the ‘Green Business Scheme’? /A5 &
& e o T &1 @r= e e

1. Ministry of Finance / fa= #=mers
2. Ministry of Tribal Affairs / SESITA T T GaTeT

3. National Safai Karamcharis Finance & Development Corporation / Tgi HHTE FHAT
EnCRAEEIGRERE

4. Ministry of Environment, Forest and Climate Change / 93Ta=u, 3+ X ST@a1g qadd
Correct Answer :-

« National Safai Karamcharis Finance & Development Corporation / TT8TT TS FHATL
IESRCRCEIGRTTIE]

46) How many members are there in the State Food Commission as per the
National Food Security Act, 2013? / TEIT G L@ ATATHIHT F FTEAT ST GTH qATT
% Fora 9aeT g9 AT U?

1.5
2.6
3.7

4. 8

Correct Answer :-

e 7

47) Under which Article of the Constitution was the Right to Education
brought in? / AAT GeT F S8 sgows | AT &7 StferepT AT 14T 97?

1. 21(a)
2.21(b)
3.21(c)

4. 21(d)

Correct Answer :-

48) Fat-soluble vitamin is : / GHT & ‘Q?H'Qﬂ?l' ferfiq 8.
1. Vitamin A / fde#= A



2. Vitamin B1/ faeTi#4 B1
3. Vitamin B12 / fde1ffA B12
4, Vitamin C / ﬁ?‘lﬁﬂ C

Correct Answer :-

e Vitamin A / f3eTHT A

49) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements./ f33: 2 fow 7T y=a ® oo $Y SR IU0F 915 $ Frewd feg T &
3! feT T HY= B I HIFAT 8, HA 81 3 gdyrd gz A =1 udia g 8f | I+t frspuf
3! ufer fre g Fifme f fau e fFrepul o @ S 91 abwTa $UF SR HRdT 8§, IR
TdyTd 97 $9 W 7

Statements: /PY:

All fruits are lions /¥ %d, IR &

All lions are foxes /3 ?a?, Fﬁ'ﬂﬁ'ﬁﬂ%

Some foxes are elephants/$® aafsar, g1l &

Conclusions: /o

I. All fruits are foxes/9 wd, AAfSai &

II. Some fruits are elephants/$9 Wdl, 'e!T?ﬁ%'

1. If only conclusion I follows /ﬂﬁ%ﬁﬁf&b‘lﬁl &WW%

2. If only conclusion II foIIows/U%WﬁEb_ﬁf II GFJPHTUTW%

3. If either conclusion I or II follows/af¢ a1 dl fpy 1 4T 11 &Waﬂ?ﬂ%
4. If both conclusion I and II follow /afe fAsHY I 3R II G TR Hd §

Correct Answer :-

. If only conclusion I follows /af¢ Had fASHY 1 SIIR0 Hdl &

50) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ f&xr: fFrafafaa urg ard &1 wagd® srerg #= g me uy
& I G|

The pie-chart given below represents the percentage wise distribution of

students in six different schools./aurs o¢ # 6 f4d fammeal & faenfday &1 ufa=e
faa~or ueflfa forar ma @

Total number of Students/%d BTl B JBAT = 6000



School/FIEERT A
school/Frmmer F.E\ )

School fPrTaTErT 8, 0%
khml;ﬁ{‘mﬂ E

29%

School /TIRETAY O,

8%

What is the total number of students in School-B and School-C together?/

faemera B 3k faermea ¢ ¥ oo o @) W@ | 32
1. 1700
2. 1900
3. 1600
4.2100

Correct Answer :-

« 2100

51) Manik starts running towards South. After running 25 metres he turns
towards North. After running 30 metres, he turns towards East and runs 20
metres. He then turns towards South and runs 20 metres. How far is he from
his initial position? /A, &0 F1 3R =1 URY Fa1 g1 25 HiR e F 91, I8
ST PI 3R TS ATGT 31 30 Hiew Ge & 916, 98 Yd B SR GSaT § 3 20 Hiex s 3
ag 57 2f3ur F1 3 gaar ? ok 20 Tiew Grear 21 98 A URfi® ®IH A fHa- v 82

1. 20 metres / 20 Hiex
2. 25 metres /25 Hiex
3. 15 metres/15 Hiex

4. 10 metres/10 Hex

Correct Answer :-

e 25 metres /25 Hex

52) How many types of clusters are there in the National Rurban Mission?/

TE &a e & s e FaeeT 32
1.2

2.3



3.4
4.5

Correct Answer :-

.« 2

53) To which of the following is the Hindu Succession Act, 1956 not
applicable? / fg=g STafe=r srfafaaw, 1956 A% # & foha sxfxpal 9 AT €1 grar 82

1. Jews / ST THTS & AT

2. Scheduled Tribe / g =T AN
3. Both of the above / 3T aET
4. None of these / =7® & FIs &l
Correct Answer :-

« Both of the above / 39Z=F TT

54) How many triangles are there in the following figure?/ﬁ'ﬂx’rﬂ?ﬁlﬁﬁ'ﬂﬁﬁ'
o1 e fpat 82

1. 24
2. 26
3.28
4. 20

Correct Answer :-

55) F7 key is used for?/F7 $eil IUANT &I STl 32
1. To check the grammar/ IR A% B4 & fow

2. To spell check/ Wi 9F B & T%IQ

3. Both of the above/ JURIGd &

4. To close the window/ faus] &g &3 & forw

Correct Answer :-



e Both of the above/ RERCSEAGI]

Topic:- Grad_Managerial Skill

1) The study of large society is known as:/ ReTA TATT F ALTIT R/ ______ Fgd 3l
1. Micro sociology/ g&q HATSATH

2. Macro sociology/ 98 TATSITH

3. Industrial sociology/ =i FATSIAT

4. All of the above/ 3T a+ft

Correct Answer :-

« Macro sociology/ 9g& FATSIATH

2) Name the relation that exists in group developed on the basis of personal
connection is:/ SRRTT JETA/A¥T% & AL I [AHAT §C THE § AN ¥ FHT 917 JdqT0-

1. Formal/sia=mtes
2. Informal/=To=Tivs
3. Indirect/ager

4. Secondary/ =+

Correct Answer :-

« Informal/sATa=m=F

3) All the unique traits and pattern of adjustment of the individual is known

as:/ =t &t ¥t s frQuarsh sk gwasm F et v Fgd &
1. Personality/ =affear

2. Responsibility/ 3aaTiaea

3. Creativity/ T=tefierar

4. Authority/ JTfersrTe

Correct Answer :-

« Personality/ =af~rea

4) As per the population census 2001 in which state literacy rate is lowest?/ SHUTHT 2001 &
SR 5 IoT B JreRdT R JaQ U 872

1. Bihar/ fo8R



2. Rajasthan/ STRYH
3. Orissa/ 3Nfex
4. Sikkim/ fifaea

Correct Answer :-

« Bihar/ fagR

5) A method in which all the members of the group accepts the decision?/ T%

ffer s awg F asft geer vy w i SR w A &
1. Rules/ ==+

2. Goal/ s1&=

3. Compromise/ q9=TdT

4. Aims/ 3297

Correct Answer :-

« Rules/ Faw

6) Visual communication includes:/ 33 ¥4 | STAA &
1. Body language/ <0< &t 98T

2. Facial expressions/ 9g< & ga-ATd

3. Gestures/ gra-919

4. All of the above/ ST a+T

Correct Answer :-

« All of the above/ 393 T+t

7) Wrong selection of channel is a: /T (I9) FT T9q 997 gl
1. Problem of Government/ I<#T &if Us THET

2. Problem of Television/ &=ttfawe $t U qoeam

3. Problem of Communication/ H=T¥ it Ts q9&T

4. Problem of Radio/ ¥f==T &t u= 7041

Correct Answer :-

« Problem of Communication/ S=T< &t TF TaF1



8) Body talk is also known as:/qTframr®r o Fgd 2
1. Noise/9T®

2. Overflow/3farvaTeg (SraTwT)

3. Leakage/fmma

4. Physical communication/sm{ieE 591

Correct Answer :-

« Physical communication/eméifeF €91

9) When was Consumer Protection Act enacted?/ JuHIeT Tverur Sififeraw &1 Sfifaw= w9 gl
Yr?

1. 1980
2. 1985
3. 1986

4. 1991

Correct Answer :-

» 1986

10) Another word for Authoritarian leader is:/ Gﬂf\ﬂil?lﬁﬂ?/ arf‘w-gaa ﬁm/ﬁ?ﬂ BT gIRT ATH
%-

1. Democratic/ USTdiR®

2. Dictator/ dMHIRIE

3. Participative/ TgHRT

4. All of the above/ GCPQIT:H vt
Correct Answer :-

o Dictator/ dIRIG

11) Summation of attitude of group members is called: /99g F 93T F W@AT F TT
F__ FEdE

1. Motivation/S=orT

2. Morale/w=ra

3. Both of the above/ I9I<h a1

4. None of the above/ ST & & #IS g1

Correct Answer :-



« Both of the above/ 3=k =1

12) When academicians are called to deliver lecture or presentation to an
audience on certain topic on educational nature it is called:/ S« farerrfa<y =r

Stfers wfa & et foraer o= gefai/=arslt % 7 TSI AT T a7 & forg srefa fohar Srar 8
W ___ TR

1. Training programme/ TfEreqor i
2. Seminar/ T

3. Workshop/ #aemeT

4. Symposium/ af==t

Correct Answer :-

« Seminar/ ST

13) What is the most important feature of a social group? /aTHTRN® T3g &t g9

g faLraar =7 87
1. Sight/3f®

2. Interaction/s=afsaT
3. Relation/#=a

4, Touch/=qs7

Correct Answer :-

« Interaction/r=atar

14) The most fundamental term in Sociology is:/THTSIATE & GATIF Aok I< &-
1. Society/sHTs

2. Group/sqg
3. Individual/=fmmE

4. Action/FTIaTar
Correct Answer :-

« Society/sHTST

15) Oral communication is the interchange of:/ #ifes #91< T ATETH-TETT B

1. Verbal message/ artfeas Haer



2. Written message/ forfera ser
3. Clues/ @at
4. Signs and gestures/ Tl 3T Ara-wiRraTSH

Correct Answer :-

« Verbal message/ 9mfeas Hxer

16) The group which is more influential than family for the adolescence is:/

RNt % forw afaT & srferss JwTel a9 g ©-
1. Occupational group/ ZTa=TAF 998
2. Peer group/ f&=/aw e a9g

3. Out-group/ FREHE (AT3e-IM)
4. Religious group/ gTtde a9g

Correct Answer :-

« Peer group/ fF=/aweet a8

17) Name the control of society over individual: /={<F < 99T & fA5=0r &7 977
JdTU-

1. Custom/ffa
2. Social control/dmaTior =T
3. State/T¥

4. Sanction/wfaser

Correct Answer :-

« Social control/aTaT{SreR AT

18) To cope with stress in a group a leader should have a healthy:/ 99g & T919
H THTIAT HA 6 [T AqT/Ageasmhdl & 919 TqeT T AT U

1. Environment/ 9ata<or
2. Body/ a6
3. Relations/ @aer

4. All of the above/ 3Td< a+T

Correct Answer :-

« All of the above/ 393 T+t



19) When was the Tenth Five Year Plan introduced?/ g4l Yaaufa o1 &9 3R g5 92
1. 15t April 2002/1 3 2002
2. 15t April 2003/1 35 2003
3. 15t April 2004/1 30 2004

4. 15t April 2005/1 3f9e 2005

Correct Answer :-

« 15t April 2002/1 33 2002

20) The mode of communication that involves a single source of transmitting
information to a large number of receiver simultaneously is called: /59X &t a8

foreT s Fa T A1q AR FT ITaHATe 6l Tgd T81 G&IT 1 Th AT FATA HLAT &, F97
FEATAT 87

1. Group communication/ g =X

2. Mass communication/ S 991

3. Interpersonal communication/ sidsafRrs 791X

4. Intrapersonal communication/ siaxTaa{xr® H9TC

Correct Answer :-

« Mass communication/ ST #9T<

21) In which state the literacy rate of women is highest?/ fFasa 'J?f'FI'I%?IT &Rl ¥ Taifie %”

1. Tamil Nadu/ Qf&erTg
2. Kerala/ IR

3. Mizoram/ foeiRA

4. West Bengal/ i3 T

Correct Answer :-

o Kerala/ CRG|

22) When was National Development Council formed?/ ?T@'q fawra uivug &1 16+ wa far mn
Yr?

1. 15t March 1950/15 AT, 1950
2. 6t August 1951/6 3T, 1951

3. 6t August 1952/6 37T, 1952



4. 26t January 1950/26 SHARY, 1950

Correct Answer :-
« 6™ August 1952/6 3{TRd, 1952

23) Which of the following is the function of Planning Commission?/ 38 & T HIfd 3TINT &1 &
P 82

1. To estimate various resources of the country/@{‘\’[ & fafia T1eA &1 sfidpa B

2. To prepare plan for balanced and effective use of resource/ e & Tqferd Td THIAT ITART & forg e
TR FHRAT

3. To review plan/ IS &1 e HAT
4. All of the above/ GCPQIT:H vt

Correct Answer :-

« Al of the above/ Sudad Tt

24) Management skill is associated with:/ Yaem #ie@ & 9% gl
1. Technical skill/ Ta=teT F1rer

2. Human skill/ st e

3. Conceptual skill/ rE&meoreas Fiere

4. All of the above/ 37w o+t

Correct Answer :-
« All of the above/ ST a+ft

25) In which religion largest population growth was noticed during 1991-2001?/ Ty 1991-2001
T fore ot o Taifere S~ien gfs ¢ait w2

1. Hindu/ &g
2. Muslim/ ST

3. Christian/ 3915
4, Sikhs/ @

Correct Answer :-

e Muslim/ GHTHN

26) How many censuses have been carried out till date since independence?/ Tdadl AP 3T
% fra-dt IR SETUAT B g@ 72



1.05
2. 06
3.07

4. 08

Correct Answer :-

e 07

27) A hostile situation resulting from opposite views: /@udia gfEon & Icq=
EIRE SRR IRESIGR

1. Brainstorming/ fa=me-sa=
2. Compromise/ fH=dT
3. Conflict/ wa9g

4. Coordination/ s9==a

Correct Answer :-

« Conflict/ wa¥=

28) For which year the largest census is being conducted in India?/ f&3 af # YRa # ga9 9}
SRTUTT Senferd o T8t 82

1. 2001
2. 2010
3. 2012

4. 2011

Correct Answer :-

« 2011

29) At what interval population census is conducted in India?/ HRd § SFIUET fHaq S-RTd W)
BT STl 22

1. 05 years/05 qy
2. 06 years/06 I%
3. 10 Years/10 9%

4. 15 Years/15 9%

Correct Answer :-

« 10 Years/10 9%



30) To be effective every leader must try to:/ TSTaT=At g9 % forw g€ Aqm/aqeasat
Ca) T TATH FLAT ATZ TN

1. Understand human behavior/ AT9a S@gE &l THAT
2. Predict human behavior/ ATHa ZTAgX T QATIHTT AT
3. Control human behavior/ 9THa =rag¥ &1 AT F

4. All of the above/3IT=k T+t

Correct Answer :-

« All of the above/3wd T+t

31) In oral communication what matter most:/ #ifas 99X § a9 ({2 Aga 9T

gargfrema__

1. What you say/ #T #gd &

2. How you say it/ ¥& #gq &

3. When you say it/ & #gd &
4. Where you say it/ #gf #2948
Correct Answer :-

« How you say it/ & #gd &

32) Criminal activity by means of electronic network is:/ saFi{=® dea#® & ATeaH
EE RN PERIRIEIE) &l

1. Corporate crime/ FIqTe TaTe
2. White collar crime/ THaaTeT ST9q<Ter
3. Deviance/ fa===

4. Cyber-crime/ a1g€ 9414

Correct Answer :-
« Cyber-crime/ amaa¥ sqa1g

33) An artificial and highly commercialized culture popularized through mass

media is:/ STTEATT ATEAAT GIT ATH I TATAT TR TH FHH T SrcqferF ATiorsdid GEhid 8-
1. Universal culture/ Sasiias dehfa

2. Urban culture/ o2t gt
3. Mass culture/ S "&Hfa



4. None of the above/ SY%I<F & & #Is g1

Correct Answer :-

« Mass culture/ S #&pfa

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./ fAé=r: frafefaa wer=r
P! ATYAP TP 9P - fed T agfawed] w=al & 9dl fawew &1 994 +¥|

A visual is what can be seen. Visuals help one to communicate more effectively. Out of the five
physical senses through which we learn, the eye is the most powerful in learning. Words are not
enough for communicating an idea. The same word may even mean different to different people.
We speak different language and so many times communication becomes difficult. We use audio
visual aids to provide our audience with a situation near to reality, so that they get idea readily.
For this purpose we use demonstrations, pictures, photographs, slides, graphs, charts, models,
dramas, etc. These aids helps in making the spoken words clear because the ideas are put
across through more than one of the senses. The aids help in holding attention, creating interest,
increase permanency of learning etc. In using visual teaching aids one has to be selective and
must consider the audience in mind. Teaching aid should be used in support to a talk or lecture
and must not fully rely on it./

T2y (Rgere) a8 & R 3T o 9ol 21 T 9 3if¥e pHTdt &1 @ HaR $34 § #eg et 2189 RF
T FAET TR BT AgHT HId & 34 A 31, R (wm) A gad ufwmedt i 81 fasd far
F YUYT & fore 2reg quied €Y & 13reT- 3 @ & for I=8) <rg) & 31 3IeTvT- et 8 Jhd 81 §H
fafirr 4TI Sie & 3R $% IR YR SIS 8 o1 21 89 R giareli/ gxfe] &) aRafdedr & 98¢
Ty #1 IR UM F31 F I T39- Y1 Tegrae IHRRT ST TN 34 ©, dife 3= f9aR TRadr
JUH H 3T WY 39 I T | g9 eI, R, By, wgs), smaral, aiferersi, Aisal, Ares! fe &1
IUANT A &1 A HeP JTARAT §id T Wea! b1 WP 991 § HerIdr HIdl & wife Rl @ ve 4
3t A= & ST A a1 S 81 3 Jerae JrAfaT e e fia vem, $fe fAffa #wa, siftnm &1
T geM 3nfe A Heg HId! &1 TXU ATIT TS -AHRAl BT ITUNT HI4 | SAfdd &1 TuTH D
BT YT @ 3R gxfeh/ et anf &) ST # G 31T &1 SIATI He&-Al &1 ardl a1 SaRe &

T & =U H YT forar o =R, 39 R gt ave ik 981 g1 wnfgul

%Vhich sense is the most powerful in learning?/ 3ftRTH (@A) A - FA=EH Ga wfFamed g
?

1. Ear/ &
2. Nose/ Al
3. Eye/ 3G

4. Tongue/ SITH

Correct Answer :-

» Eye/ 3

2) DIRECTIONS: Read the passage and answer the questions that follow./ f31: fRuaferfaa e
B AFYAP TgH IqP A1 & T ggfamedt uzAl & w6t fawer &1 997 $3|



A visual is what can be seen. Visuals help one to communicate more effectively. Out of the five
physical senses through which we learn, the eye is the most powerful in learning. Words are not
enough for communicating an idea. The same word may even mean different to different people.
We speak different language and so many times communication becomes difficult. We use audio
visual aids to provide our audience with a situation near to reality, so that they get idea readily.
For this purpose we use demonstrations, pictures, photographs, slides, graphs, charts, models,
dramas, etc. These aids helps in making the spoken words clear because the ideas are put
across through more than one of the senses. The aids help in holding attention, creating interest,
increase permanency of learning etc. In using visual teaching aids one has to be selective and
must consider the audience in mind. Teaching aid should be used in support to a talk or lecture
and must not fully rely on it./

Ty (fageren) e € O 3T S wobdl 1 Txal A e yHIdt 411 A HuR 3 § Heg et g 1gd e
Ul FRf=a) | TR BT U HId 8 30 F 31, Siferm (em) & Jad wfda=mett gidt 81 fasdt faaw
P TYUYUT & fore Treg yuied Y & 13remT- 3 @i & for I8) gl & 3ref 3IeivT-3renT 8 APhd 81 §H
faftr UTeTg Sier B 3R $3 TR WAR Hi3 8 91T 31 89 R Hiarsit/ axfe! #) arRafdedr & 98¢

T 31 IR ve@ $37 F T T29-9oa Tgrae AR} &1 TR $3d §, dife 3= fadR IRadr 4
T H 3T ST | 39 I A g0 Ui, fosl, wiehnw, Trgsy, e, aiferersh, Aisdl, Ares! anfg &1
IUENT Hd &1 A Ged AT S1d T el B1 TP 911 # Herdl S & i ARl & te 9
3iftre I & ST G @1 S 81 3 Jerae Il e e fia ven, ofe fAfifa #eq, siftnm &1
WA T 3Mfe A Hee Bl &1 T AT HeUFH-IHRY BT ITANT B34 # AfR ) IgaTHS
BT 2T @ 3R gufer/ oiar avf &) e & 3@ 8T 81 AU Yers-url &Y araf a1 e &
TN & =0 H YT foham o AR, 39 wR it avg ik &1 g anfguy

Why do communication becomes difficult?/ FaR &= T g ST 82
1. Because we are from different religion/ s BH i emf %’

2. Because we speak different language/ i g9 e HIoTe dierd %

3. Because we are from different country/ Hifh gH A i I %

4. Because we do not understand English/ e Efr 3T RS E :lﬁf 3Tt %

Correct Answer :-

« Because we speak different language/ T g9 fie HTHTE Sierd &

3) DIRECTIONS: Read the passage and answer the questions that follow./ 3= Fufafed T
P AFYED UgHR 39& -1 33 T sgfamadt u=al # Odt fowew &1 997 331

A visual is what can be seen. Visuals help one to communicate more effectively. Out of the five
physical senses through which we learn, the eye is the most powerful in learning. Words are not
enough for communicating an idea. The same word may even mean different to different people.
We speak different language and so many times communication becomes difficult. We use audio
visual aids to provide our audience with a situation near to reality, so that they get idea readily.
For this purpose we use demonstrations, pictures, photographs, slides, graphs, charts, models,
dramas, etc. These aids helps in making the spoken words clear because the ideas are put
across through more than one of the senses. The aids help in holding attention, creating interest,
increase permanency of learning etc. In using visual teaching aids one has to be selective and
must consider the audience in mind. Teaching aid should be used in support to a talk or lecture
and must not fully rely on it./

=2y (fagaren) 9% 3 Fof 3w o wan 31 T2 @ 3if¥e wuTdt &1 @ HaR $A A weg e 8159 R
Ui FRf=al | TR &7 3gHd HId 8 398 F 341, Siferm (em) & Jad wfda=mett gidt 81 fad far
P T & forT Xre yafed &Y & 13reT-3renT A & fore I8 g & 31 SrerT- 3T 8 I d &1 gH
fafta HTeTE Sierd € 8fR S IR JUR HIS 8 S1d1 21 89 U Hiarsi/ Sxia] &) aRdafaedl & 3¢



Ty #t R ueM #31 F I exy-yo1 Jerae IHfal &1 U 34 §, dife 3= faR Waar 3
JUS 31 WY 39 I£T | g9 eI, R, Bieluw, warsst, smaral, aiferersi, Aisal, Ares! ife &1
IUANT Hd &1 A HEP JTARET S T Wea! ! TP 971 § ARl Pl @ Hife fEOR] & v 4
3t FA= & SIRT IHA @1 oraT 81 A S Il e et waq, fy fAftfa 39, siftnm &1
RIAG T 3Nfe § Hee Bl &1 T AT TePH-JHRAT BT ITANT B34 # Af &) TgTHSD
BT YT @ 3R gxfp/ ar anf &) a1 A G 3T &1 SIATI He&-Al &1 ardl a1 saRe &

T & =4 H YT foham o AR, 39 wR gt ave ik 981 g anfgul

Which are the audio visual aids?/ TX9-431 HgTI®-ATHRRIT HIH- 8?2
1. Slide/ WSS

2. Graph/ 9%

3. Model/ ATSd

4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/ Sudad Tt

4) DIRECTIONS: Read the passage and answer the questions that follow./ fden: Fafefaa T
P! ATYEP UgHT 39> - fed T4 agfawed! w=Al | 9dl fawey &1 99+ +¢|

A visual is what can be seen. Visuals help one to communicate more effectively. Out of the five
physical senses through which we learn, the eye is the most powerful in learning. Words are not
enough for communicating an idea. The same word may even mean different to different people.
We speak different language and so many times communication becomes difficult. We use audio
visual aids to provide our audience with a situation near to reality, so that they get idea readily.
For this purpose we use demonstrations, pictures, photographs, slides, graphs, charts, models,
dramas, etc. These aids helps in making the spoken words clear because the ideas are put
across through more than one of the senses. The aids help in holding attention, creating interest,
increase permanency of learning etc. In using visual teaching aids one has to be selective and
must consider the audience in mind. Teaching aid should be used in support to a talk or lecture
and must not fully rely on it./

Txg (fageren) e @ O 31 o Iobdl 21 =20l | 3ifie yHdl ¢ | FaR $31 § #eg fierd 2159 RF
UTT A=) A SR BT 3T B3 & 94 4 3if@, At (fre) o ga zifdasmen gt &1 forlt famme
P TG & forT 1o yaTed 1Y & 131eT-3renT A & fore I8 wed) & 3rdf rerT- 3T 8 I d &1 gH
faftrr WITE Sied € 3R #¥ IR TR S84 g oIIdT 81 89 gHR Siarsii/ 3@ &1 aRaidedal & 3ge
Y #1 TR UeM $31 & 1T exg- 40 Jerae IrHRal 1 YO $1d &, a1 3¢ fauR axadl 9
JU 3T WY 39 I T | g9 eI, REll, B, wgs), smaral, aiferersi, Aisal, Ares! fe &1
IUUNT HId &1 A GEP AT S1d Y Medl 1 TP 91 § HErdl Rl & Hifep R &1 te 9
3t FA= & ST A a1 Sirar 81 3 Jerae Il e e fia vem, $fe Affa #wA, siftrma &1
TR TeM 3Mfe A Hag Hedl 81 TG SATU Hed-ATHRa] &7 SUaiT $1 # safe &) I s
BT BT @ 3R gxfer/ et anf &) ST A G 3T &1 SIATIH He&-Arl &1 ardl a1 saRe &
AR & & § YT fHar 91 9ifee, 39 W gt ave AR 8 g anfgul

What is the main purpose of audio visual teaching aid?/ TU-4T AATUT TEeIH-Arf} &1 qe1

I AT 8?
1. Hold attention/ SN d T

2. Create interest/ ®fd IAH B



3. Increase permanency of learning/ S W@I@Hm
4, All of the above/ G“q?i'cﬁ vt

Correct Answer :-

« All of the above/ wjaa Tt

5) DIRECTIONS: Read the passage and answer the questions that follow./ 3= Fufafed T
P ATYEP YgHY 39> - fed T4 agfawed! w=Al | uel fawed &1 994 H|

A visual is what can be seen. Visuals help one to communicate more effectively. Out of the five
physical senses through which we learn, the eye is the most powerful in learning. Words are not
enough for communicating an idea. The same word may even mean different to different people.
We speak different language and so many times communication becomes difficult. We use audio
visual aids to provide our audience with a situation near to reality, so that they get idea readily.
For this purpose we use demonstrations, pictures, photographs, slides, graphs, charts, models,
dramas, etc. These aids helps in making the spoken words clear because the ideas are put
across through more than one of the senses. The aids help in holding attention, creating interest,
increase permanency of learning etc. In using visual teaching aids one has to be selective and
must consider the audience in mind. Teaching aid should be used in support to a talk or lecture
and must not fully rely on it./

=2y (fagaren) 9% 3 Fo 3w o wan 31 T2l @ 3if¥e wudt &1 § HaR $vA A weg e 8159 R
Ufg AT A R ST gHT B3 & S0 4 3ifE, R (e & gad wfdmmed 8t ¥ foeh e
P TUYUT & fore Treg qaied 1Y & 13reT- 3re v & forg I8) red) & 3ref 3IevT-3renT 8 APhd 21 gH
faftrr UTeTE Sier § 3R $3 TR JAR HI3 8 91T 31 89 gUR Hiarsit/ axfew! #) arafdedr & 98¢
Ty #t R UM #31 F I exy-yo0 Jerae JrHfal &1 T 34 8, dife 3= R Waar 3
JU A 3T Y| 39 I£T | g9 USRI, R, WieiuTw, wasst, smaral, aiferersi, Aisal, Ares! fe &1
IUUNT Hd &1 A GeP AT Sd ¢ Mol 1 TP 911 # Gl Sl & Fife ARl #1 te 9
3P FH= & SINT ITHA @1 Sl §1 A G ITAAT A neiid Iaq, ofy Aififa &9, siftrma &1
WA T 3Mfe H Hee Bl &1 T AT TeUPH-JHRAT BT ITINT B34 # AfRT ) TgTHS
BT 2T @ 3R gufer/ ditar avf &) e & @A BT 81 SHeATue YIS -urRh $Y araf a1 e &
AT & ¥U A YT fhar 9 a1y, 39 R @it avg Rk =181 g =nfeul

What should we consider before selecting the audio visual aid?/ TI9 40 HgI®H-ATTH ?;Fler I
Ugd gH for diell R foaR ®=-1 T1few?

1. The audience/ T=fearl/gidmat
2. The teaching aid/ (€10 HgTIH-AIH3!
3. The model/ Higd

4. The language/ HTNT

Correct Answer :-

e The audience/ E{W’f/%ﬁﬂﬁﬁ

6) DIRECTIONS: Read the passage and answer the questions that follow./ f3=r: fRaferfaa e
P! ATYEP TP 39> - fed T agfawed] u=al # Ol fawey &1 994 +¥|



A visual is what can be seen. Visuals help one to communicate more effectively. Out of the five
physical senses through which we learn, the eye is the most powerful in learning. Words are not
enough for communicating an idea. The same word may even mean different to different people.
We speak different language and so many times communication becomes difficult. We use audio
visual aids to provide our audience with a situation near to reality, so that they get idea readily.
For this purpose we use demonstrations, pictures, photographs, slides, graphs, charts, models,
dramas, etc. These aids helps in making the spoken words clear because the ideas are put
across through more than one of the senses. The aids help in holding attention, creating interest,
increase permanency of learning etc. In using visual teaching aids one has to be selective and
must consider the audience in mind. Teaching aid should be used in support to a talk or lecture
and must not fully rely on it./

Ty (fageren) e € O 3T S wobdl 1 Txal A e yHIdt 411 A HuR 3 § Heg et g 1gd e
Ul FRf=a) | TR BT U HId 8 30 F 31, Siferm (em) & Jad wfda=mett gidt 81 fasdt faaw
P TYUYUT & fore Treg yuied Y & 13remT- 3 @i & for I8) gl & 3ref 3IeivT-3renT 8 APhd 81 §H
faftr UTeTg Sier B 3R $3 TR WAR Hi3 8 91T 31 89 R Hiarsit/ axfew! #) arRafdedr » 98¢

T 31 IR Ue@ $37 F U T29-9o0 Teras AR &1 TR $3d §, dife 3= [aaR IRadr 4
T H 3T ST | 39 I A g0 Ui, fosl, wiehnw, Trgsy, e, aiferersh, Aisdl, Ares! anfg &1
IUENT Hd &1 A Ged AT S1d T el B1 TP 911 # Herdl S & i ARl & te 9
3iftre I & ST G @1 S 81 3 Jerae Il e e fia ven, ofe fAfifa #eq, siftnm &1
WA T 3Mfe A Hee Bl &1 T AT HeUFH-IHRY BT ITANT B34 # AfR ) IgaTHS
BT 2T @ 3R gufer/ giar avf &) e & 3@ 8T 21 AT Yers-url &Y araf a1 e &
TN & =0 H YT foham o AR, 39 wR it avg ik &1 g anfguy

Teacging aid is used in the support of:/ 3/ATIT YEIH-IRH B & gganT ® v fear
oldi gl

1. Drama/ dIlc®
2. Lecture/ IRAT
3. Discussion/ Tat

4. Meeting/ 9%

Correct Answer :-

o Lecture/ O

7) DIRECTIONS: Read the passage and answer the questions that follow./ f3=r: fRaferfRae weiwr
Pl ATYEP UgHY 9P - fed T4 agfawed] w=al | udl fawew &1 a9+ +¥|

In the developing societies interpersonal network of communication continues to be strong.
Face-to-face communication carries a considerable volume of message. In fact the credibility of
this channel is the most well established and the message conveyed through non-traditional
mass media invariably requires its seal of approval. Much of the information in these societies is
conveyed in face-to-face interaction. Studies in India suggest that message originally received
via the mass media get substantial diffusion through interpersonal network. These networks are
also engaged in the continuous surveillance of environment. With the interpersonal network the
traditional media occupies an important place through modern education. They consist of many
folk forms of dances, dramas, narrations and entertainment. The folk media have been the
principal instrument of transmission of cultural heritage and also serve the purpose of
entertainment./

fapraxita Turel § TR &1 siadufaae Aead faame 9T g3 31 TN $T Ieaa-1a URHATT S1A-
YA & TR F SIRT BT 81 axga: 39 °FT (39) 91 faga-aar gaffte wifia 8 8k surmfve
SR Hred A U W3R @) fAfda v A el #) few 3 snaxaear s 31 39 Jue |



SRIBT THAPRI STHA-THA P qTadid & N Ugard! St 81 YRa § f5d T sreqai @ T fierar @

% Ho1 U A SEUR A1H A T §U oW SAdaf® Aead P SINT Seaa- 1T TR BId & dd g1

T Aegd TR Y Gad FRE & of Tew ved €1 siadafdis Aead & a1y uRwRe areay (Hifean),

Yy g & IR agayul ®F FIRYE fFT §T 81 379 o, ATe®, FUI-a/eH 3R BFReH @t &5

?ﬁ%ﬁmﬁa%wﬁmmm%ﬁvm%ﬁwwg@mmaﬁgq%sﬁ?%mﬁwmw
|

Which form of communication is strong in developing countries?/fd@ra=ita =0 H TAR @7 PI-1
Y =M 8?2

1. Intrapersonal network/ 3fcRIATfHIS Scdd
2. Interpersonal network/ 3idddfaie Jcad

3. Mass media network/ SFERIR HIIH Acdd

4. Folk media network/ dlh HIZIH cdd

Correct Answer :-

« Interpersonal network/ 3 “cad

8) DIRECTIONS: Read the passage and answer the questions that follow./ frd=n: Frafafea T
P! ATTYEP UgHY 9P - fed T agfawed! u=al 6 ugl fawey &1 9+ +¥|

In the developing societies interpersonal network of communication continues to be strong.
Face-to-face communication carries a considerable volume of message. In fact the credibility of
this channel is the most well established and the message conveyed through non-traditional
mass media invariably requires its seal of approval. Much of the information in these societies is
conveyed in face-to-face interaction. Studies in India suggest that message originally received
via the mass media get substantial diffusion through interpersonal network. These networks are
also engaged in the continuous surveillance of environment. With the interpersonal network the
traditional media occupies an important place through modern education. They consist of many
folk forms of dances, dramas, narrations and entertainment. The folk media have been the
principal instrument of transmission of cultural heritage and also serve the purpose of
entertainment./

fapra=ita Turel & TR &1 siadufaae Aead e 97 g3 31 TN BT Seaa-1a URHATT SA-
TRA & TOR ¥ AR g1 81 aga: 39 anf (39 ot faya-igar afftie wifde § o srwis
SR Hred A W W3R @) fAfda v Q el $ few 3 snaxaear usd 31 39 Jueh |
SRUBT THABRT ATHA-THA P qTadid & TN Ugard! St 81 YRa § f5d T sreqai @ T e @
6 qu ©U | THUR AT A UT §U Yo Sdagfcie Aead & SivT Jeara-1d UHR gIiid &7 o 2l
T Yegd TR Y ad FARE & o Gew ved €1 siadafdas Aead & a1y uRwie wreay (Hifean),
3y e & WY Heayel wiF F1Ra fbe gu €1 379 T, ATe®, FUT-aeH 3R AR &1 &5
gﬁﬁﬁmm%l?ﬁmmmmm%ﬁwmg@mwaﬁgq%ﬁ%mﬁmﬁw
|

What does face-to-face communication carries? 3THA-HHH & AR & \‘rlﬁ'l:{ fPasTaga ﬁ'cIT %”
1. Mass of message/IcRN & TBAT

2. Group of message/IcT qe

3. Volume of message/?i%&ﬁﬁ gReTor

4. None of the above/ SR & T Ebﬁé gl



Correct Answer :-

« Volume of message/Ic=1 &1 GRHATIT

9) DIRECTIONS: Read the passage and answer the questions that follow./ = Fufafee T
P AFYED UeH 39& -1 33 T sgfawpalt w=at # Ot fowew &1 997 331

In the developing societies interpersonal network of communication continues to be strong.
Face-to-face communication carries a considerable volume of message. In fact the credibility of
this channel is the most well established and the message conveyed through non-traditional
mass media invariably requires its seal of approval. Much of the information in these societies is
conveyed in face-to-face interaction. Studies in India suggest that message originally received
via the mass media get substantial diffusion through interpersonal network. These networks are
also engaged in the continuous surveillance of environment. With the interpersonal network the
traditional media occupies an important place through modern education. They consist of many
folk forms of dances, dramas, narrations and entertainment. The folk media have been the
principal instrument of transmission of cultural heritage and also serve the purpose of
entertainment./

fapra=ita ureh § TR &7 siadufeae Aead el a7 g3 31 TN BT Seaa-1a URHATT -
A & TUR & ARY g1 81 aRga: 39 anf (39a) ot faya-igar 9afftie wifia § o srwis
SR A A W w3 @) fAfda v A el $) fiew 3 snazaear usd 31 39 Jueh &
SRIBT THABR! ATHA-THA T qTadid & AN Ugard! St 81 YRd § f5d T sreqai @ A e 8
6 qu ©U | SHUR AT A T §U e Sdagfie Aead & SivT Jeara-d UHR gIiie &7 o 2l
T Aegd TR Y ad FREL & off Tow ved €1 siadafdas Aead & a1y uRwie areay (Hifean),
iy e & WY Agayel wi g1lRa fbe gu €1 379 T, ATe®, FUT-arH 3R AFReH &1 &5
gﬁﬁmmﬁlwmmmmﬂ?mma@mwaﬁ@%aﬁ?%mﬁwmw
|

What does traditional mass media require?/tIRTlTﬁﬁ? SFEAR WAd &1 fhae! smavadarn tl@'cﬁ %?
1. Seal of approval/ WHd Bt AG

2. Seal of government/ IRHPR AR R

3. Seal of license/ A I HIGR
4, Seal of India/ ‘J-IR_crﬁIﬁ%T

Correct Answer :-

« Seal of approval/ W@ d BT ARG

10) DIRECTIONS: Read the passage and answer the questions that follow./ fAd=r: fAufefaa
TN $Y ATYAP TP 3P - fed T agfasmed) w=al & 98! fawew &1 9= +3|

In the developing societies interpersonal network of communication continues to be strong.
Face-to-face communication carries a considerable volume of message. In fact the credibility of
this channel is the most well established and the message conveyed through non-traditional
mass media invariably requires its seal of approval. Much of the information in these societies is
conveyed in face-to-face interaction. Studies in India suggest that message originally received
via the mass media get substantial diffusion through interpersonal network. These networks are
also engaged in the continuous surveillance of environment. With the interpersonal network the
traditional media occupies an important place through modern education. They consist of many
folk forms of dances, dramas, narrations and entertainment. The folk media have been the



principal instrument of transmission of cultural heritage and also serve the purpose of
entertainment./

fapraxita Turel & TR &1 siadufaae Aead faame 9T g3 31 TN $T Seaa-1a URHATT SA-
A & TOR P ART g1 81 axga: 39 anf (39 ot fRya-gar gafftie wifda 8 o srwis
SR Hred A W W3R @) fAfda v d el #) few 3 snaxaear s 31 39 Jue |
SRUBT THABR! ATHA-THA P qTadid & N Ugard! St 81 YRa § f5d T sreqai @ A e 8
% Ho1 U A SHEUR ATHAH A T §U W SAddfi® Aead P ST IeaE- 1T TR BId &Y dd 21
T Acad AW P Jad IR § o v 3gd 81 Siadufade Acad & 1Y URWRS Aregd (Hifeam),
Yy g & IR agayul ®F FIRYE fFT gT 81 379 o, ATe®, FU-aeH 3R BFReH 3t &5
?ﬁ%ﬁmﬁa%wﬁmmm%ﬁma%ﬁwwg@mmﬁgq%eﬁ?%mﬁwmw
|

Traditional media occupies an important place through:/ * \—rrh‘q TRWR® A1 H?E‘Q;Uf

R g1 fe gu 81

1. Modern language/3&f<d HTST
2. Modern education/&ﬂi\[% fRreq
3. Modern science/ 3T faz
4. Modern dance/GHE\{ﬁEﬂ?J

Correct Answer :-

« Modern education/ 3 fRr&f

11) DIRECTIONS: Read the passage and answer the questions that follow./ fé=r: fAafefaa
TR $ ATTYEP UgHT 39> - e T4 agfawed! w=al & 98l fawew &1 9+ +¥|

In the developing societies interpersonal network of communication continues to be strong.
Face-to-face communication carries a considerable volume of message. In fact the credibility of
this channel is the most well established and the message conveyed through non-traditional
mass media invariably requires its seal of approval. Much of the information in these societies is
conveyed in face-to-face interaction. Studies in India suggest that message originally received
via the mass media get substantial diffusion through interpersonal network. These networks are
also engaged in the continuous surveillance of environment. With the interpersonal network the
traditional media occupies an important place through modern education. They consist of many
folk forms of dances, dramas, narrations and entertainment. The folk media have been the
principal instrument of transmission of cultural heritage and also serve the purpose of
entertainment./

fapra=ita Turel § TR &1 siadufaae Aead faame 97 g3 31 TN BT Seaa-1d URHATT S1A-
YA & TR F SIRT g1 81 axga: 39 4Rl (39) 9t faya-aar gaffte wifia § 8k surmfve
SR Hred A W W3R @) fAfda v A el #) few 3 smaxaear s 71 39 Jueh |
SRUBT THABRT ATHA-THA P qTadid & SN Ugard! St 81 YRa § f5d T sreqai @ T e @
6 qo ®U & SHUR AT A UT gU Yo Sidagfckie Aead & ST Jeara-1d UHR gIiie &7 o 2l
T Aead uRawr 1 Jad FARE & of T Ted €1 siadafaae Aead & 9y RS dread (W),
3y e & WY Heayul wiF FIRE fFT gu €1 379 T, ATe®, FUT-aH 3R AR &1 &5
gﬁﬁ%ﬁmﬁa%wﬁmmaﬁvﬁmﬁwa%ﬁwmwmmaﬁm%eﬁ?%mﬁmﬁw
|

Traditional media consist of:/ RS ATegHl | wfie %'-



1. Dance/ T

2. Dramas/ dlcdh

3. Narrations/ ®Y-dTd-

4, All of the above/ G'Cl?iiﬁ bt

Correct Answer :-

« All of the above/ B'Cﬂj?ﬁ Tt

12) DIRECTIONS: Read the passage and answer the questions that follow./ fAd=r: fAufefaa
TR BT AP Ugdh 9P 1 G T sgfawedt vl & T8l fawey &1 999 &4

In the developing societies interpersonal network of communication continues to be strong.
Face-to-face communication carries a considerable volume of message. In fact the credibility of
this channel is the most well established and the message conveyed through non-traditional
mass media invariably requires its seal of approval. Much of the information in these societies is
conveyed in face-to-face interaction. Studies in India suggest that message originally received
via the mass media get substantial diffusion through interpersonal network. These networks are
also engaged in the continuous surveillance of environment. With the interpersonal network the
traditional media occupies an important place through modern education. They consist of many
folk forms of dances, dramas, narrations and entertainment. The folk media have been the
principal instrument of transmission of cultural heritage and also serve the purpose of
entertainment./

fapraia quml § TaR &1 siadafaie Aead Afwa=me a7 goim 31 =i &1 I gRuTor mA-
M & R & ST g1 81 avga: 59 At (e F1 fyweiiaar gaifte wifie § ok srmafiye
SER Arendl § U¥d Ge3wr Y fAfda U F el #Y digr $ smavaedar usdt 81 39w A
ARHT AABRY ATA-ATHA B FTadId F FRT Ugard ot 31 URd § {53 T sremat & Havd e 8
% g0 U A THEUR UTSH W U §U W S[AdafRi® Aedd & ST STaEH I TR 1R B A4 §
T Jead ufd it Fad AR & ff Gew e 71 siadafaas Aead & A1y IRWiS drey (HifEam),
3y g & WY agaye! wi FIRa fT 8T 81 379 T, ATe®, FUI-areH 3R AFReH @ &5
Wﬂﬁﬁ?l?ﬁﬁmmmﬁWH%ﬁwmg@mmaﬁgq%aﬁv%mﬂmm
|

Folk media have been the principal instrument of transmission of:/ AP "y & RO
BT YT A1 I §¢ B

1. Cultural heritage/IRhfdd faRIId
2. Cultural values/SRp T A3
3. Cultural norms/|iR e D!

4. Cultural songs/SRG T Tl

Correct Answer :-

« Cultural heritage/¥id® faxmrd

Topic:- Grad_Child Care and Education

1) Meaning of child development is:/ STd fa®r &1 T 3 B:



1. Physical & mental/ IRIN® Td RIS
2. Cognitive & Emotional/ SMId® Ud oD
3. Over all Development/ JTafior fawrg

4. None of these/ SRigd & A qﬁ{:rgﬂ'

Correct Answer :-

« Over all Development/ granfior faery

2) In early childhood Physical growth took place in which proportion?/

TR arearawr § e gfs fora srqura & gt 382
1. Mental Age/ AMRI® 31

2. Social Age/ HTHIfSIH 3

3. Skeletal age/ 3 3g

4. Maturity age / GRUSIdT 31

Correct Answer :-

. Skeletal age/ 3 317

3) A Human body has chromosome./ #THd IR A CIRIIL]

BId 8-
1. 49
2. 46
3.48

4. 50

Correct Answer :-

4) What are the AIMS of PRE School Education:/ qa‘mmfifr&rr %3%’5{&3{“%?
1. Healthy environment/ a¥ qrdrdrul

2. Aesthetic sense/ g a1y

3. Intellectual curiosity/sifad formam

4. All of the above/ IWRIe GH

Correct Answer :-



« All of the above/ IWRiad gt

5) Which is the aims of Bal Shakti Yojana?/ STd Uifak 9S-I &1 329 B 91 82
1. Control on under-weight / $AIYU[ TR f4a=01

2. Emphasis on play/ &d &¢ &1 §@[dT ¢

3. Population control/ SR fAg=00

4. None of these/ SRigd & 9 do\lir:l'tﬁ

Correct Answer :-

« Control on under-weight / $ANU[ TR fd=01

6) Pre School curriculum is based on:/ 9d Wiyfi® fRign ureusw foa w ik w=ar

8?

1. Physical Development/ IRIR® f[dbT
2. Sense Training/ Sfodl UiRI&mT

3. Play Activities/ @WW

4. All of the above/ IWRIGd FHi

Correct Answer :-

« All of the above/ IWRiad g+t

7) What is the characteristics of special education programme?/ a3y fram

PTAHH B faRiyare 1 52

1. Special Educator/ o=y Renfag

2. Regular Class teacher/ [affid &&T i&ds
3. Special-day school/ faRy faaw faurer

4. All of the above/ SWRIa T

Correct Answer :-

« All of the above/ IWRIad g+t

8) Which is the effect of learning & Environment?/ SIFRRTH TUT GTaTaR T BT YHTT
P 8?

1. On Childhood/ STeITdRIT U



2. On adolescent/ frRaRI ™R
3.0n Prenatal/Mi RIFY R
4. 0n Whole life/ TU Siad TR

Correct Answer :-

« On Whole life/ 0 Sa- 0R

9) Which type of child has quality of originality?/ g UpR & gTere | Hiferepdar
T T[0T UTIT STdT 872

1. Creative child/ go-i=iiel aTeich

2. Backward child/ ICEEIGINED

3. Mentally Retarded child/ Hagf< sSTdd
4. None of these/ IWRIgd H ¥ PIs -Tg!

Correct Answer :-

« Creative child/ Jo-=id dTcd

10) Which is the learning process of Pre School Age?/ qﬁiﬂﬂﬂmﬁmﬁ?ﬁ
ufspar 1= 32

1. Learning by Memory/ﬂ'lﬂ'ﬁmm

2. Learning by writing/ﬁflﬁm‘éﬂ"@ﬂ

3. Learning by Imitation/mmm
4. Learning by punishment/wmﬁw
Correct Answer :-

« Learning by Imitation/mmm

11) In AIDS -A Stand for:/ AIDS TI&% & 31&R A &7 Juf faw :
1. Accuracy/ Q&tﬁ?ﬁ

2. Acquired/ QHGTEKS;

3. Adolescence/ VSt

4. Adulation/ USdCRH

Correct Answer :-

« Acquired/ THIS



12) When was Bal kalyan Karyakram started?/ 9Td SedT0l STAHH $F YR g3
T2

1. 1987
2. 1986
3. 1999
4. 1996

Correct Answer :-

« 1986

13) Period of prenatal is:/ TTWQF{[WWW?T@HT%?
1. 280 Days/280 &

2. 320 Days/320 faq

3. 290 Days/290 fea

4,310 Days/310feA

Correct Answer :-

. 280 Days/280 fa

14) How many bones in a human body?/ WWﬁﬁW?@ﬂTﬁ?ﬁ%?
1. 212

2. 206

3.200

4, 204

Correct Answer :-

. 206

15) Important career of Heredity is in:/ Wﬁg‘@mﬁqmzﬂm%?
1. Genes/ W=

2. Cell/ BIRMBT

3. Muscles/ 3dd®

4. Ovum/3us]



Correct Answer :-

« Genes/ ST

16) What is the characteristics of learning disabled?/ 3iftrm g s=ai @1

forward 1= 9 82

1. Hyperactivity/ 3ifdferamRiterdr

2. Specific academic difficulty/faf2me Qi I
3. Disorder of attention/ 3GYE D TSIl

4. All of the above/ SWRIad g+t

Correct Answer :-

« All of the above/ IWRiad g+t

17) Which is the widely spread scheme for child & Women?/ WEH'H‘I%?IT%@
3 faeqga aien 3 31 82

1. Integrated child development services/ gHfhd aTd f9er Ia1 Ao
2. National Immunization Programmme/ IS¢ EIhTHRU HTAHH

3. National Rural Health Mission/ W@HWW

4. None of these/ SRIgd & A m\I'{fHﬁ

Correct Answer :-

« Integrated child development services/ gUfhd aTd faer Ia1 are

18) What is the basic principles of special education? /IRy f1&m & gaya
R a3 82

1. Emphasis on individualized Instruction/ Hfaaid Gl:ﬁ?fl:fq?aﬁ
2. Training in functional skill/ fopuTcHe I o1 Uferon

3. Emphasis on a wakening child sense/ dici®h B 131 P! SR B R §d

4. All of the above/ SWRIad g+t

Correct Answer :-

« All of the above/ IWRiad g+t

19) A Mentally retarded child IQ is less than WA G EE K L rarc
ITAD] B! glg-afe Y HA T 8



1. 88
2. 85
3. 86

4.84

Correct Answer :-

20) In which year Rashtriya AIDS control programme NACP was started?/

IS TN FRIs01 SRIH NACP &d YR fovar mar?
1. 1988
2. 1994
3.1987
4.1992

Correct Answer :-

« 1992

21) What is ELISA? / TferET &1 82
1. Typhoid Test/ dufd® e

2. Cancer Test/ $IR T

3. Fever Test/ SR T

4. AIDS Test/ TgH ¢¥

Correct Answer :-

« AIDS Test/ UgH ¢

22) What is the Concept of leaning?/ HE @ =1 aread 82
1. Change in emotions/ T H ufkgd

2. Change in feeling/ Gﬁﬂﬂﬁﬁqﬁﬂ?ﬁ

3. Permanent change in behavior/ Wﬁwﬁuﬁaﬁq

4. Change in Aesthetic sense/ dicd a1y A gRad

Correct Answer :-

« Permanent change in behavior/ Wﬁw—s‘qﬁaﬁq



23) Last stage of language Development is?/ HTYT fd®rH & Ra} sraxT Hi

8?

1. Crying/ shg-

2. Vocabulary/Rlsq HUSR

3. Sentence formation/ g fmfor

4. Pronunciation/ 3=RU]

Correct Answer :-

. Sentence formation, aTa AT

24) Nature of friendship during childhood is?/ STeara®yT # firzyar & ugfa &1

8?

1. Anthropological/ & fd fagmt
2. Homogenous/ BSECR|

3. Parental/&ﬁ[‘l-ﬂ?iﬁﬂ

4. Heterogeneous/ ICLEER

Correct Answer :-

« Homogenous/ LSECR|

25) Integrated education plan is related to?/ SHf&d e aien feaw Gafia sidl
?

1. Exceptional child/ fafare srde

2. Genius child/ UfdHTa™ STdH

3. Creative child/ JuSHlH® dlcidh

4. None of these/ SWRIgd H T &5 Tal

Correct Answer :-

« Exceptional child/ fafRre srde

26) Which is the factor of National AIDS Control organization (NACO)?/ IS
s v SrdwH $T FRE i A1 8?

1. Protective blood programme/ Yok gR&T BT

2. Help from Non-government organization/ WWWW



3. Help from government organization/ TRORT TS BT T

4. All of the above/ IURIad g

Correct Answer :-

« All of the above/ SWRIad g+t

27) Protection of child Rights related to?/ = & @ &7 91 919 SfRI Ft 38 A
defta 82

1. ICDS
2. ICPS
3. NACO

4, UNICEF

Correct Answer :-

« ICPS

28) In Infancy study of emotional Development was done by:/ ARt A
Tidfire faer sreaas fora woR fopan wiran @2

1. Interview/ HI&Th R
2. Observation, fiemon
3. Research/ 39U

4. All of the above/ IuRIad g+t

Correct Answer :-
e Observation/ o

29) What are the types of physically handicapped?/ /= # 3 =RfY® faswaimar
& UPR Id15Q?

1. Hearing Impaired child/ $d0r &ffaged ST
2. Vision Impaired child/ %’@WW

3. Orthopedic handicapped/ 3R [d&waiT STcs
4. All of the above/ SWRIead T

Correct Answer :-

« All of the above/ IWRIad g+t



30) Curiosity tendency is the characteristic of which age?/ forayg ygf fow
ST B} faRiwar 82

1. Infancy/ Q=Ma=T
2. Childhood/ STcITdRIT
3. Adolescence/ THFURTGRI

4. None of these/ SRIgd & A ch\lar:lﬁ

Correct Answer :-

« Childhood/ STcITa®RT

31) Perception, Abstraction, Transfer are Characteristics of /

Tefteeur, JTyfdedeur, 3=aur P foRivard 8
1. Cognitive/ JJMEIH®

2. Creativity/ Jol-IHP

3. Aesthetic/ Tadary

4. Emotions/ Tal

Correct Answer :-
« Cognitive/ IMTHD

32) When did Atal Bal Arogaya Poshan established?/ 3icd 9Td 3R UIyor iz
P RITYAT Hd B! TS &2

1. 2011
2. 2010
3. 2008

4, 2012

Correct Answer :-
« 2010

33) Which is the method used for educating hard hearing children?/ W'{Fﬁ
I TS & ol SuAT @ 715 Rreor fafy #= <ft 82

1. Manual Method/ g fafy
2. Sign language method/ a8 HTwT fafy

3. Aural Method / %dUr I fafe



4. All of the above/3IuRlad g+t

Correct Answer :-

« All of the above/IWRIa I

34) Dicrali method of teaching is related to?/ %W?ﬂﬁzr&rmﬁ&rmﬁw&m%?
1. Mentally Retarded children/ AFRI® ¥4 ¥ =Y ST

2. Crippled child/ 3T §Telh

3. Child with defective speed/ WWWW

4. Genius child/ UfdHTa STd%

Correct Answer :-

« Mentally Retarded children/ AFRI® ¥4 ¥ ey S1ad

35) Who gave classic conditional theory?/ 3fspar @1 Rrgr foea fear ur?
1. Pavlov/ ICNIG

2. Skinner/ PR

3. Kohler/ W

4. Throndike/ YTER®

Correct Answer :-

« Pavlov/ Urddid

36) Gross Movement is related to?/ @ Tfafaftrat fead defta g2
1. Motor Development/ foparee famr

2. Physical Development/WﬁW

3. Mental Development/ AFRI® faemrg

4. Emotional Development/ Jomd® fam™

Correct Answer :-

« Motor Development/ foard® fasg

37) Chromosomes are related to:/ U fHad Tefiea gid 8:

1. Respiration/ Xddd



2. Reproduction/ US4
3. Transmission of Heredity Character/ 3fdifRid 0N &1 RAAR0I

4. Digestion/ UTdd

Correct Answer :-

. Transmission of Heredity Character/ 3fdifRI& Ul &1 RIFRUT

38) NACO is related to which disease?/ AT®! &1 JdY T ITA 82
1. AIDS/ TSH

2. Cancer/ IR

3. Typhoid/ dufée®

4. Bery-Bery/ CRIEGR|

Correct Answer :-

. AIDS/ U9

39) Necessary factor for cognitive development is:/ Go-Td® f[dPHN 7q AAD
T DI |1 82

1. Sentiment/qaﬂ
2. Meditation/ frd=
3. Logical/ GIEEI
4. All of the above/ IWRI& GHi

Correct Answer :-

« All of the above/ SWRIad Tt

40) Change in size & proportion are pattern of:/ 3THIR dYUT Wﬁwﬁaﬂq
e ufosu -

1. Development/fd&r™

2. Growth/ q@

3. Mental Process/ RIS Ufehadn
4. Learning/31f&mmy

Correct Answer :-

« Development/fd®Ta



41) According to Hurlock human Development has how many stages?/ WAlD

& IR A4 fabTg ot fora-it Srawimd Fardt 75 82
1.11
2.6
3. 10
4.8

Correct Answer :-

42) When was Rashtriya AIDS control programme started?/?‘l‘@'ﬂ@ﬁm‘ﬂw
DRIDHH T YIRTY 3T UT?

1. 1987
2. 1988
3. 1989
4. 1986

Correct Answer :-

« 1987

43) AIDS does not spread through:/ ﬁmﬁ@rmﬁmmqﬁméz
1. By Shaking hand/ g1y i 9

2. Unprotected Sexual Relation/ SRR 14 ey

3. Unprotected Blood donation/ &lﬁ\’f\&fﬁw@e{@f

4. Infected Needle/ T Hd T3

Correct Answer :-

« By Shaking hand/ g4 fia= @

44) Exceptional children have category./ Wmﬁﬁ'@ﬁ:
Aot gt 2-

1.5
2.6

3.8



4.3

Correct Answer :-

e 5

45) Right Stage of Prenatal Development is:/ T4 Y] foeTa &1 9 w9 S 91

2

1. Period of Embryo, Period of Ovum/ fUUg 3@, & 3awi
2. Period of fetus, Period of Embryo/ mhufirrsl, fUus srgwy
3. Period of Ovum, Period of Embryo/ f&W 3@y, fius sy
4. None of these/ IWRIad U I &5 -1g!

Correct Answer :-

« Period of Ovum, Period of Embryo/ fota o, UUs sfawit



